24 24
ZAh 1t 3 ZAh 1t 3

Motion Control

Motion Control

eSS EIIT Product performance parameters are as follows RE-fTEMLEE] Acceleration-payload relationship HNR

/ " HCR
==
/EERE o o e
Repeat Accuracy EEE{M‘*E E (mm) i i\ ) o IKF AMEBER horizontal, side use HNB
i O . 05 Eyﬁt}fﬁ (mm) Rated Speed (rpm/min) 500 [1000|1050|2000 2500 3000 15 HCB
mm . i e
=R E (Mm/s) Maximum speed (mmys) 1160 | 2300 | 3500 | 5600 | 5800 | 7000 L HNT
%*E'”ﬂ&li% 7K F(ER (kg) Horizontal(kg) | 15 | 12 8 4 3 2 XYZ
Maximum Payload 8
S 12 (mm) tead (mm) 140 a2
¥a
g 4
TEAEHEST (N) Rated thrust (N) 92 5 ocB
©
FRAEFTAZ (Mm) Stroke pitch (mm) 150~3050mm/100 iR 100 mm pitch 3 GCR
=] GCB
ACTRIBR AR E (W) Acservomotoroutput (w) 400 2
GCBS
0
B2 BEEE (Mm) Beltwidth(mm) 25 1160 2300 3500 5600 5800 7000 e
BEFLEE (mm/s) Maximum speed (mm/s)
BNIMEELEH (mm) High rigidity linear guide(mm) 15X12.5 ESR
WU EERRHIESE THANERBAERTREE).
5% 4 *Please refer to the moment diagram below.(Do not reach all maximum EMR
J?\o"n;\e’;ngrgg Oguts};i:e 672(N PN) value at same time.)
EHR
1 DIANREIZEO.4FD 0
31 Acceleration and deacceleration value is set 0.4 second. K
SR
REFREHTIFER N.m Allowable overhang ZEREE Installation diagram LNP
DDR
STIEMSEER IR uplockinglt y 1 feerenc
T‘_I' £ IS M5 nuts Qty. (by stroke) okl eference
= Lasteen | TR 720\ dta
BHATIE stroke 150~950 150~1450 150~1950 2050~2450 2500~3050 =
O down locking plate
#48 Quantity 6 8 10 12 14 ~— TFHiREER
¥BATRAEREA A TH, EAMSERIEEEE. ¥ LA BEERIFAT AR, BE R RIBESINEMEM,
#Standard mounting method is fix from the bottom, using the M5 bolt and nut. #Top fixing plate is optional.
RIFAFHIFER Nm Allowable overhang BESATFRHRE Static loading moment
HER#HSE, BT LR ERE
This picture for reference only, specs details according with the drawing.
A
3050mm 7000mm/s 400W 25mm 15X12.5-1% ¢ A .
[+
B
(B {IUnit:mm) (8 {IUnit:mm) (B4IUnit:N.m)
= R I 2 SRR
ﬂ%ﬁi’sﬁiﬁ Orderin g method Horizﬁxﬁﬁanon Spej%!:;um HorianJEﬁ(sﬁaﬁon Spee%%)fnum R &
2kg 7000mm/s | 143 | 75 25 2kg 7000mm/s | 25 75 | 143 MP 44
3kg 5800mm/s | 143 50 18 3kg 5800mm/s 18 50 143 MR 12
% 4kg 5600mm/s 145 33 15 % 4kg 5600mm/s 15 33 145 *HRERFARTHIHBIE, A RE D
- - - — - — — - - 5 5 Thetorquevalueinthe chartindicate the center of gravity.
140 | 8kg 3500mm/s | 167 | 23 12 1401 8kg 3500mm/s 12 23 | 167 A RSAEME LA T RIEE®H100002E,
Lead 12k 2300 Lead 12k 2300 Operation life is 10,000km when the product is using under the specified conditions.
- _ g mm/s | 215 | 22 | 12 8 mm/s | 12 | 2 | 25 IR EREA SRS AR REEIRTLS.
15kg 1160mm/s 215 17 12 15kg 1160mm/s 12 17 215 The standard specification cannot be applied to the use of inverted crane.
Please consultour business if necessary.

iR AR

Brand

ARFERE

Body Width

CEIARSIA—E 3R Suitable motor brand

FBH Belt
T LDIRIES | AN T HEEE DRAE R E ARDEES RNBES
Motor direction ¥: threaded hole Al Customs“spe‘cialprocessing Brake Motor capacity AC-Voltage Servo motor model Driver Model
3 k hole N
DL EHLAM G: countersunk hole ‘2‘8 iggw N
. o . = TR L (K FE¥
2 ;i}gserlselal %adz :\)4'; z:ﬁﬁgﬁﬁ 75:750W Mitsubishi M Nobrake(}SZﬂzontIaltyp)e) 400 220 HG-KR43 MR-J4-40A
Y Full Seal
H B usope 140mm ML SBHUINE 8 1K: 1000w
O BRH entype LP EBHIHEEN TS T FH 2 (K F )
E EBAT electric cylinder LU BASNEEM LS %T&ﬁﬁ? Panasonic P No brake (horizontal type) 4y 2 e RIERLIRS
L B Linear motor s RP EANEENTS \ ) SR
K SEIEE vigh gy 150-3050mm RUSHABENLS |y Lgoe S s EAIE (KTH)
2H High rigidity linear actuator B M =2 wieubichi i = FZE (K FS B ~ ~
G AHERTVERL suiltin rail linear actuator (i8] Eﬁll(goomm) bL motorle!;sided % ﬁm ’:hts:b‘sm N:NPN Delta T No brake (horizontal type) 400 220 ECMA-C20604ES ASD-B20421-B
| mm DR Motorright side ‘askawa .
D BB &L simple linear actuator ’ MR Motoreiema\rightside H R bcea PrPNP 3PCS
X N N Mot t lleftsid.
M BLBRAEFE B v sy o T B v A
LU Motor external upper left I OEEA resucer

RP Motor external lower right
RU Motor external upper right

A I 2% S-S M I Ty . WY 17 55 ff o E iE WM I e




7=\
2 AH 1% %

Motion Control

BALA M/ EBANAN

Motor left side / Motor right side

’é#ﬁﬂ&%ﬁgﬂ Full-Sealing Belt Driven Linear Actuator

95. 50

ﬁ } EB*”,EM'J Motor left side

FASHNMREIRES

M5 T-Nut
i L T HMB T Y0

—A

L

Je s

15 24T FE valid stroke

E&ﬂg&

left 1imit85

24 B 10MMsate distancel0mn

right Ifimit85

120

60 2x 6

[l

Excluding motor and mounting plate weight

%m:Unit:mh

o
e

BHRITE
Stroke
L 530 630 730 830 930 1030 1130 1230 1330 1430 1530 1630 1730 1830 1930
KG . 7.6 8.1 8.6 9.1 9.6 10.1 10.6 111 11.6 12.1 12.6 13.1 136 14.1
BHRITE
Stroke
L 2030 2130 2230 2330 2430 2530 2630 2730 2830 2930 3030 3130 3230 3330 3430
KG 14.6 15.1 156 16.1 16.6 17.1 17.6 18.1 18.6 19.1 19.6 20.1 20.6 211 216 J
l EE*”;E{'J:"J Motor right side B{I:Unit: m}
M5 T-Nut
4 T BN TRV R

==

95. 50

65

TRERNNREIRER
BHITE

Stroke

530

16

630

AR EE85

left 1imit85

L I
200 HRAT R valid stroke A H 85
224 BE B 10MMsafe distancel0mm right Jimi t85
I =l r
=
120
60 2x @6

*Excluding motor and mounting plate weight

730 830

I

930 1030

1130 1230

1330 1430 1530

1630

1730

1830

1930

71

7.6

8.1 8.6

9.1 9.6

10.1

10.6

AL 11.6 12.1

126

13.1

136

14.1

BHRITE

Stroke

2030

2130

2230 2330

2430 2530

2630 2730

2830 2930 3030

3130

3230

3330

3430

KG

146

15.1

15.6 16.1

16.6 17.1

17.6

18.1

18.6 19.1 19.6

20.1

20.6

211

216 /

3% -8 € M ——"

OC B6O NEIES

HIR/MREE Knowledge classroom

KRN AR 2H 45 52 Feature of Belt Driven Linear Actuator

RRAR A BB ARBHS B H H— IR ITHRR L= &, B AERBY IR o RieR ELEEH, B FERE &
ER R-FETREDRITE, FBHEEUTS), BRI EER TS REEIES, B BT, EHiE N, TN SHEER
ZKinm,

Beltdriven linear actuatoris a modular product that integrates servo motor and synchronous belt, which transforms the rotary motion of servo
motorinto linear motion, and at the same time transforms the best advantages of servo motor-precise speed control, precise revolution control

and precise torque control into-precise speed control, precise position control and precise thrust control; And realize high-precision linear
motion.

KRFR AR 2H Bl #1455 &= Innovative feature of Belt Driven Linear Actuator

BUFTHF R —: Innovative feature 1:

BRIt ERERTEADN, TERMEMNNYE, SWRENE, FEREVEIZERNTSE, ESRS E, RREM A&
B8, AR, ARt

The finite element stress analysis is used in the profile design to simulate the stiffness and structural stability of the profile. The non-bearing

surface should be thin whereitis thin and thick whereitis thick, reducing the weight of the profile body, with strong actual bearing capacity and
humanized design.

BUFTHF 52— Innovative feature 2:

BRICARMEBTIARFET, EENMNEAZ AR, FRERATENSEDIER, TRAMD L E RN, 058
RAZ MM AZE, EATLUE IR AR EMEBTTRE .

At present, in the environment of photovoltaic and lithium battery industry, when the vertical and side hanging loads are large, the width and
structure of the module are not changed, and an auxiliary rail is installed at the side of the module to strengthen the lateral moment of the
module, which can also increase the strength and operational stability of the module.

BUFTHF S =: Innovative feature 3:

FHF . 2HHAS0RERTIRLU L, STIERABAE, TahAR IR, AR TR BEK, BHERK, IEEBELT,
b EBEAREA RN, BRITNEK.

Semi-enclosed, fully enclosed 80-width series and above, with high guide rail, variable load design and strong load-bearing capacity. The

sliding seat is long, the contact area is large, and under the same cantilever condition, the shaking is smaller than that of the ordinary low-
assembly module, and the static allowable torque s larger.

RIETEF S PT : Innovative feature 4:
FrE EREL 2 A8, £ HFEA, BERMER T UESTh, FEERE TN, BOZPEIPRE,

All European semi-closed actuator, fully closed actuator, and both sides of the sliding seat can be centrally oiled, and there is no need to
disassemble the belt and steel belt, thus reducing the maintenance cost of customers.

RIETF S E  Innovative feature 5:

EHRZRIGITRANBRP, £—BKE, EZREREE, B LERMRAES R, BHBE R T, B H I B 2w o &
RAETE,

The belt tensioning design adopts double-layer protection, the first layer is tensioned and the second laminated plate is fixed to prevent the

belt from jumping teeth and the belt tensioning block from falling off under the condition of high speed and overload of Belt driven linear
actuator.

BUFTHF 75 ¢ Innovative feature 6:

BRAR AR R ERE, RA= M EIQITBREBESE, AR EXEN R TP AR EZERETE, £ .

Belt driven linear actuator is easy to install, and three sides of the actuator are designed with slider nut grooves, and any three sides can be
installed optionally. Customers do not need to consider the installation space, and the structureis simplified.

BUFT4F 2 Innovative feature 7:
BRI HFEA, R REASEMALD, —EEE LRFEAERER, MLERMHNEALAR@E,

The semi-closed belt drives the linear actuator, and the belt width is large and the profile is open. To some extent, the beltis used instead of the
cover plate to prevent foreign objects from entering the module.

BUFTHER /N Innovative feature 8:

ARABNNRES @, JUEEENFERE, RFAILUMEAERSER, BOEAEBTE, TR, AR EN
HEIE, B &%,

Theinstallation direction of European-scale group motor can be installed in any four directions, and the wheels can be used as couplings, which
reduces the lateral space of customers, saves costs and increases the torque of the motor, with high efficiency and high rate.

—— IR ES-E S M A

7=\
2 AH 12 %

Motion Control

/

HNR

HCR

HNB

HCB

HNT

GCB

GCBS

GCRS

ESR

EMR

EHR

KSR

LNP

DDR

SEHK

Reference
data



=\
A1t o

Motion Control

7=\
2 AH 1% %

Motion Control

FaEEESHUT Product performance parameters are as follows

RE-frELE Acceleration-payload relationship HNR

/ " HCR
==
/EERE o o e
Repeat Accuracy EEE{H*EE(mm) i i\ ) o IKF AMEBER horizontal, side use HNB
i O 05 E_'ﬁz§§i§ (mm) Rated Speed (rpm/min) 500 [1000|1000 20 20 20 28 HCB
mm . %
=R [ (mm/s)  Maximum speed (mm/s) 1160 | 2300 3500 | 5600 | 5800 | 7000 » HNT
RARHEE IKFAER (kg) Horizontal(ke) | 28 | 22 | 18 | 12 | 6 4 Xyz
Maximum Payload 18
S 12 (mm) tead (mm) 140 ﬁg
#WE 12
E*ﬁﬁh (N) Rated thrust (N) 71 E; oCB
&
17T A2 (mm) stroke pitch (mm) 150~3050mm;/100 {81F& 100 mm pitch ¥ GCR
GCB
AC@HEEHZSQE (W) AC servo motor output (w) 400 4
GCBS
0
B2 BEEE (Mm) Beltwidth(mm) 30 1160 2300 3500 5600 5800 7000 e
BEFLEE (mm/s) Maximum speed (mm/s)
BNIMEELEH (mm) High rigidity linear guide(mm) 20X17.5 ESR
WU EERRHIESE THANERBAERTREE).
5% 4 *Please refer to the moment diagram below.(Do not reach all maximum EMR
J?\O"";é,:‘eﬂngrgg Ogutflii:e 672 ( NP N) value at same time.)
EHR
1 DIANREIZEO.4FD 0
31 Acceleration and deacceleration value is set 0.4 second. KSR
B HEHIIFER N.m Alowable overhang RETREE Installation diagram LNP
DDR
=38 E =] up locking plate H LA
BITEMSERZIEHE M5 nuts Quy.(by stroke) b adngate — =gy elerence
BHATIE stroke 150~950 150~1450 150~1950 2050~2450 2500~3050 =
I down locking plate
#48 Quantity 6 8 10 12 14 ~ THIHEER
¥BATRAEREA A TH, EAMSERIEEEE. ¥ LA BEERIFAT AR, BE R RIBESINEMEM,
#Standard mounting method is fix from the bottom, using the M5 bolt and nut. #Top fixing plate is optional.
RIFAFHIFER Nm Allowable overhang BESATFRHRE Static loading moment
HER#HSE, BT LR ERE
This picture for reference only, specs details according with the drawing.
A
3050mm 5000mm/s 400W 30mm 20X17.5-1% ¢ A .
s [+
(B {IUnit:mm) (8 {IUnit:mm) (B4IUnit:N.m)
= R I 2 SRR
gg%;_eitjj_it Ordering method Horizz}rﬁzﬁﬁation Spee?’bﬁf;um Horizﬂ!\Eﬁtﬁation Spee%%ximum R I
4kg 7000mm/s - - - 4kg 7000mm/s - - - MP 71
6kg 5800mm/s = = = 6kg 5800mm/s _ _ _ MR 20
S| kg | seoommjs | - - - S| kg | seoomm/s | - _ _ HERFRTORIE REE D,
- - - — - — — - - 5 5 Thetorquevalueinthe chartindicate the center of gravity.
140 | 18kg 3500mm/s | 174 | 76 42 1401 18kg 3500mm/s 42 76 | 174 A RSAEME LA T RIEE®H100002E,
Lead 22k 2300 Lead 22k 2300 Operation life is 10,000km when the product is using under the specified conditions.
— - g mmjs | 225 | 71 | 4 g mm/s | 42 | 1| 25 R EREAERIT L N BRAEIRALS,
28kg 1160mm/s 270 73 42 28kg 1160mm/s 42 73 270 The standard specification cannot be applied to the use of inverted crane.
Please consultour business if necessary.
GahE & R ARFERE
4eie BRI BfEIARZIA—¥IFK Suitable motor brand
R Belt
- OIS EHSRIIT HERE DREE B FARDARS Rapims
Motor direction ¥: threaded hole Al Custom‘f‘spe‘dalprocessing Brake Motor capacity AC-Voltage Servo motor model Driver Model
DL LA G: countersunk hole 20:200W
N 234 Hlsemi scal e DR EBHLA ‘;gj ;‘ggw Miiﬁhi M (O 750 220 HG-KRT3 MR-J4-T0A
C & rutsel e MR BN E R s
H BF sstype 140mm ML EBASNE IR 1K: 1000W
O BRA en type LP EBHHIEEMTA [/ TR ZE (KFHE)
E EE%I Electric cylinder LU EE*)’L?I‘EEMUJ:H ?of&ﬁﬁ? Panasonic P No brake (horizontal type) 13 2 LIRS ZCT RIERLIES2Y
L EgiEg*ﬂ. Linear motor . RP EE*””‘EEMU—FE P *IL}-F Panasonic phﬁ:ﬁ Elgti%ud
K SAEARLE High rigidity linear actuator 150-3050mm RU EBHINE B £ M =2 vieubichi BT— &% TR (KR
G POBRELBLA nuitinrai inor actotor (EF100mm) DL Motorleftside Vg N:NPN petts T Nobrke horizonial el 750 220 ECMA-C20807ES ASD-B20721-8
” 0 < i Gap 100mm DR Motorright 5|de. ) )11 vaskawa P: PNP
D féj%*ﬁfﬁ Simple linear actuator MR Motor externalright side H 5RJ|| HCFA 3PCS
3 " N ML Mot t Lleftsid
M BRpE SE Direct drive rotary motor LP Mgtz::it::::lliw:rl:ft T &3 pelta TARIB 2 T None
LU Motorexternal upper left I REA reducer

I 3% -

=

RP Motor external lower right
RU Motor external upper right

& M I ey A, W X P E -8 & M




% ’éiﬂﬂ&%ﬁgﬂ Full-Sealing Belt Driven Linear Actuator OCBSO Series ) , “ %

Motion Control

Motion Control

B M/ BN
Motor left side / Motor right side
HNR
/‘ ’ BB motor left side B :Unit: mn —
- HNB
—_—
R HNT
L -
A AT RE valid stroke A A BR(LL0
24P E10MMsafe distancel0mn right nit110
GCB
GCBS
300 GCRS
190
g % | 4x M8 ESR
o0 T ‘ il er
— i i EMR
4 [LOC= = ] .
— [ 1 T .
2.50 f EHR
1x 98
KSR
REBHNMRERESE “Excluding motor and mounting plate weight LNP
BRITE
Stroke DDR
L 680 780 880 980 1080 1180 1280 1380 1480 1580 1680 1780 1880 1980 2080 SEEH
Reference
KG 10.6 i3 124 1313 14.2 15.1 16 16.9 17.8 18.7 19.6 20.5 21.4 2.3 23.2 data
BRITE
Stroke
L 2180 2280 2380 2480 2580 2680 2780 2880 2980 3080 3180 3280 3380 3480 3580

k KG 24.1 25 288 26.8 27.7 28.6 2215 304 SIS 322 SELIL 34 349 35.8 36.7 j
/( ’ EE*J‘LEMIJ Motor right side B :Unit: m}

M5 T-Nut
M5! —h
e = - = = = =
==
!
! L
BR110 300 HRATHE valid stroke A RBRLLO
left] limit11d . e ight 1imit110
ef limit110 A B 10 safe distancelOmn B
. .
= - 0
so | ! 300
190 1% M8
9 L
I T il
f=] ==
S [ImizomilE ] |
o ‘ | ‘
= 1x ¢ 8
2.50 =

CREBHAMRERER “Excluding motor and mounting plate weight

BHRITE
Stroke
L 680 780 880 980 1080 1180 1280 1380 1480 1580 1680 1780 1880 1980 2080
KG 10.6 JII5) 12.4 133 14.2 151 16 16.9 17.8 18.7 19.6 20.5 214 RG] 232

BHRITE

Stroke

L 2180 2280 2380 2480 2580 2680 2780 2880 2980 3080 3180 3280 3380 3480 3580

k KG 24.1 25 259 26.8 21.7 286 29.5 30.4 a3 322 BENI) 34 349 358 36.7 / K /

—— IR ES-E S M A

3% -8 € M ——"



7=\
A1 o

Motion Control

7=\
2 AH 12 %

Motion Control

RE-frELE Acceleration-payload relationship HNR

RS HUT Product performance parameters are as follows

/ ) HCR
4=y
Eg*ﬁg [Fyaaes d positioni +0.05
Repeat Accuracy EEE{M‘*E E (mm) i i\ ) - IKF AMEBER horizontal, side use HNB
i O . 0 5 Eyﬁt}fﬁ (mm) Rated Speed (rpm/min) 500 [ 1000|1050 2000 2500 3000 33 HCB
mm . %
BEli =) 12 E (mm/s) Maximum speed (mm/s) 1600 | 3200 | 4800 | 6400 | 8000 | 9600 26 HNT
RARHEE KT (kg) Horizontal(ke) | 33 | 26 | 20 | 12 | 5 | 2 xvz
Maximum Payload 20
242 (mm) tead (mm) 192 ﬁ%
wg 12
TEAEHEST (N) Rated thrust (N) 63 3 0ocB
©
s 5
R EFTHE (mm) stroke pitch (mm) 150~3050mm/100 [8]B& 100 mm pitch e
2 GCB
ACEBREIABE (W) AcCservomotoroutput (w) 750
0 GCBS
B2 BEEE (Mm) Beltwidth(mm) 50 1600 3200 4800 6400 8000 9600 e
BEFLEE (mm/s) Maximum speed (mm/s)
%muﬁggﬁ%m (mm) High rigidity linear guide(mm) 30X23 ESR
WU EERRHIESE TANERBAERTREE).
Eﬁ@mgg 9},}1 *Please refer to _Ihe moment diagram below.(Do not reach all maximum EMR
A Outs;i:e 672(N PN) value at same time.)
EHR
1 DIANREIZEO.4FD0
31 Acceleration and deacceleration value is set 0.4 second. KSR
BIFAEHTIFER N.m Allowable overhan REREE Installation diagram LNP
g 8!
DDR
RAITIEMSGEEIBNEERE M5 nuts Qty.(by stroke) up locking plate lj H R%fﬁﬁ*?e
. LHREER TR 720\ data
BRATIE stroke 150~950 150~1450 150~1950 2050~2450 2550~3050 =
I down locking plate
#48 Quantity 6 8 10 12 14 THIREER

*BAIEEES RN THE, EAMSEEEEEE.

#Standard mounting method is fix from the bottom, using the M5 bolt and nut.

# EHMABERRIEAR AR, BB HRIERINEIMEM,
#Top fixing plate is optional.

RIFHAFHIFER Nm Allowable overhang BESRFRHRE Static loading moment

HEER#HSE, BT LR ERE

This picture for reference only, specs details according with the drawing.

A
3050mm 9600mm/s 750W 50mm 30X23-1%% c A 8
: c
(B {IUnit:mm) (B {IUnit:mm) (B4IUNit:N.m)
% SRR 2 SRR
ﬂ%ﬁi’sﬁiﬁ Ordering method Horizﬁxﬁﬁanon Spejjﬁfi:mum Horizﬂgﬁﬁation Speed Maximum Why 63
2kg 9600mm/s - - - 2kg 9600mm/s - - - MP 63
skg 8000mm/s - - - Skg 8000mm/s - - - MR 25
*PERFIRTHBIEARED.

Thetorquevalueinthe chartindicate the center of gravity.
HEERMEHESA T RIESFH 71000022,

TPA-OCB-100-192-L3050-DL-Y-P75B-N3-F o o | - |- |- S somn | - |- |-

4800mm/s - - - 20kg 4800mm/s - - -

Lead e 3200 y 200 0 Lead 26k 3200 / o 200 Operation life is 10,000km when the product is using under the specified conditions.
- - g mm/s 5 |5 g mm/s | 45 B ERE AR AL I RRAANRALS.
33kg 1600mm/s 120 30 40 33kg 1600mm/s 40 30 120 The standard specification cannot be applied to the use of inverted crane.

Please consultour business if necessary.

mhE A FR AT E
Brand Body Width EfEARDIA—YFR Suitable motor brand
T Belt : e
G: kT ; by B e MEEE =P ] BiREE ARDEES KRB S
Motor direction Y. lhrleaded hole HOLOGPIOWEL Clﬁﬁi@iﬁzﬂ;gigng Brake Motor capacity AC-Voltage Servo motor model Driver Model
3 k hole :
I 6: countersunk hole ‘2‘8 iggw N
g - : = FRECRTE
I\:l ;:ggserlse\al %Hdi :\)4'; z:ﬁﬁgﬁ#ﬁ 75:750W Mitsubishi M Nobrake(}SZﬂzon;ltyp)e) 750 220 HG-KR73 MR-J4-T0A
Y Full Seal
H B ssope 192mm ML SBHLSME 8 1K: 1000w
0 BRH entype LP BHABEEM TS Lo P TR ZE (k) 750 220 MHMD082G1U MBDHT3520
E SBET cecticoinge W A EEN LS R panssonic ormelerenaies
. roke STEET
L B tner motor L0050 RP BAMEAMTS P AN F ranssonic e e
K SAEARLE High rigidity linear actuator - mm RU BHSNBEMLES M =2 v o &35 FFIZE (KT
G PIERTUAR LA suiltin raillinear actuator (jelP@100mm) DL Motor left side v ;“% MI‘SkUbIShI NI NPN Delta v Nobrake (horizontal type) 750 220 ECMA-C20807ES ASD-B20721-8
Gap 1001 M ight sid Yaskawa .
D BSR4 simple linear actuator epimm ﬂi Mgtg::ielr:;lfightside H o R vem P:PNP 3PCS
N leftsid
UFt T T — e T R
LU Motorexternal upper left I RE resucer

RP Motor external lower right
RU Motor external upper right

A I 2% S-S M I Ty . WY X 55 ff o E iE WM I




7=\
2 AH 1% %

Motion Control

BALA M/ EBANAN

Motor left side / Motor right side

’ éi‘j I‘ZH & %ﬁgﬂ Full-Sealing Belt Driven Linear Actuator

/‘ ’ EBHZEM Motor left side

—A
M8 T-Nut
1 A T SEMST AL B R
> = = = = =
i :
—~a
L L |
M K&lzg‘ 290 | AT R valid stroke E*&BELZI
left [limit129 _ ?%EE%IOMM safe distancelOmm | Tight limitl2]
~ 5 o
=R
el 0. 5
100
200
120 2x @6
10. 20
8 40
o) [ T =
EVIE ﬂ
3.20 _78 l Hj H ‘

12 x M8

REBHNMRERESE “Excluding motor and mounting plate weight

ﬁ{ﬁ:Unit:mn

BRITE
Stroke
L 700 800 900 1000 1100 1200 1300 1400 1500 1600 1700 1800 1900 2000 2100
KG 15.6 17.1 18.6 20.1 216 215411 24.6 26.1 27.6 29.1 30.6 LI 33.6 B5M) 36.6

BHRITE
Stroke

L 2200

2300 2400 2500 2600 2700 2800 2900 3000 3100 3200 3300 3400 3500

3600

39.6 41.1 42.6 44.1 45.6 47.1 48.6 50.1 51.6 il 54.6 56.1 57.6

k KG 38.1

[GOKI) j

/( ’ EE*J‘LEMIJ Motor right side

—A
M8 T-Nut
LT S MBTRY4R )

A

=

7
.2

I
L L I
EJ‘&BEIZQ 290 | AT HR valid stroke Ef&EELZI

left|limit129 _ ﬁéEE%IOMM safe distancelOmn right 1{mit121

g
©

e -

100 200

120 2x @6
40

10.20 l HjHL ﬁ%ﬂ“%

| ——]

12 x M8

20

B :Unit: m}

BHRITE
Stroke
L 700 800 900 1000 1100 1200 1300 1400 1500 1600 1700 1800 1900 2000 2100
KG 15.6 17.1 186 20.1 216 23.1 24.6 26.1 276 29.1 30.6 B281) 336 BEA) 36.6

BHRITE

Stroke

L 2200

2300 2400 2500 2600 2700 2800 2900 3000 3100 3200 3300 3400 3500

3600

39.6 411 426 44.1 45.6 47.1 48.6 50.1 51.6 53.1 54.6 56.1 57.6

k KG 38.1

59.1 /

3% -8 € M ——"

OCB].OO NEIES

2Aa

A4ty

Motion Control

— 39 % E-E & M

HNR

HCR

HNB

HCB

HNT

GCB

GCBS

GCRS

ESR

EMR

EHR

KSR

LNP

DDR

SEHK

Reference
data



=\
A1t o

Motion Control

7=\
2 AH 1% %

Motion Control

FaEEESHUT Product performance parameters are as follows

RE-frELE Acceleration-payload relationship HNR

/ " HCR
= uE
Eg*ﬁg oo R d positioni +0.05
Repeat Accuracy EEE{J*EE(mm) i o o IKF AMEBER horizontal, side use HNB
i005 E_'ﬁz§§i§ (mm) Rated Speed (rpm/min) 500 [1000| 1500|2000 | 2500 | 3000 38 HCB
mm . %
%%EE (mm/s) Maximum speed (mm/s) 1870 | 3700 5600|7470 | 9300 [11200: 2 HNT
RARIMES KPARER (kg) Horizontalleg) | 38 | 22 | 12 | 8 | 4 | 2 XvZ
Maximum Payload 12 e
S 12 (mm) tead (mm) 224 ﬁg
mg 8
TEAEHEST (N) Rated thrust (N) 55 5 ocB
&
_ 4
17T A2 (mm) stroke pitch (mm) 150~4050mm;/100 {81F& 100 mm pitch GCR
2 GCB
AC@HE%K@E (W) AC servo motor output (w) 750
0 GCBS
B2 BEEE (Mm) Beltwidth(mm) 50 1870 3700 5600 7470 9300 11200 e
BFLEE (mm/s) Maximum speed (mmjs)
BNIMEELEH (mm) High rigidity linear guide(mm) 30X26 ESR
WU EERRHIESE THANERBAERTREE).
Eﬁ@ﬂ%ﬁ 9}4}__ 672(N p N) '\Ijﬁ::m:‘rzf:;‘gﬁlr:ee?oment diagram below.(Do not reach all maximum EMR
Home sensor Outside
EHR
1 DIANREIZEO.4FD 0
31 Acceleration and deacceleration value is set 0.4 second. KSR
B HEHIIFER N.m Alowable overhang RETREE Installation diagram LNP
DDR
BITIEMSGEEIBNEERE M5 nuts Qty.(by stroke) up locking plate lj H R%fﬁﬁ*?e
Lasteen | TR 720\ dta
BHATIE stroke 150~950 150~1450 150~1950 2050~2450 2550~4050 =
I down locking plate
8 Quantity 6 8 10 12 20 ~— THHEER
¥BATRAEREA A TH, EAMSERIEEEE. ¥ LA BEERIFAT AR, BE R RIBESINEMEM,
#Standard mounting method is fix from the bottom, using the M5 bolt and nut. #Top fixing plate is optional.
RIFAFHIFER Nm Allowable overhang BESRFRHRE Static loading moment
HER#HSE, BT LR ERE
This picture for reference only, specs details according with the drawing.
A
4050mm 5000mm/s 750W 50mm 30X26-1% ¢ A .
s [+
(B {IUnit:mm) (8 {IUnit:mm) (B4IUnit:N.m)
= R I 2 SRR
gg%;_eitjj_it Ordering method Horizz}rﬁzﬁﬁation Spee?’bﬁf;um Horizﬂ!\Eﬁtﬁation Spee%%ximum R &5
2kg 11200mm/s - - - 2kg 11200mm/s - - - MP 55
4kg 9300mmy/s = = = 4kg 9300mmy/s = = = MR 30
S| &g | raromms | - - - S| sk | rarommis | - - - HERFRTORIE REE D,
- - - - - — - - - 2 2 Thetorquevalueinthe chartindicate the center of gravity.
2241 12kg 5600mm/s = = = 2241 12kg 5600mm/s - - - HARFIEHERS LA T, RIEEH 71000022,
Lead 22k 3700 Lead 22k 3700 Operation life is 10,000km when the product is using under the specified conditions.
— _— - g mm/s | 240 | 80 | 20 g mm/s | 20 | 80 | 240 R EREAERIT L N BRAEIRALS,
38kg 1870mm/s 200 60 10 38kg 1870mm/s 10 60 200 The standard specification cannot be applied to the use of inverted crane.
Please consultour business if necessary.
fahE 2 AR R
et ST BfEIARZIA—¥IFK Suitable motor brand
FE T Belt : e
G 8411 13 = HEBE P R E ARDRRS WABES
Motor direction Y. threaded hole e Cﬁgfufpﬁﬁﬂcﬂeﬁng Brake Motor capacity AC-Voltage Servo motor model Driver Model
G: It k hol M
DL EALEM countersunk hole ‘2‘8 iggw .
Mot = : = TR ZE (K
N 288 s sea =2 DR EBHAMN 75- 750W — M (O 750 220 HG-KRT3 MR-J4-70A
C 2HHrulseal fead MR BN BRI .
H B usope 224mm ML EishE i LK: 1000W
O BRH entype N LP BHSNEENTS gy 60/S0(REH C P e cowiea ) 750 220 MHMD082G1U MBDHT3520
E EBET eiecricoytinder LU mish Bt [ i Panasonic o prake (orzentattye)
L B EH Linear motor RP BHANBENTE P AT sorseont HEAR
K SIEB wigh ity neorocutor 150-4050mm Ry BHHEEMLS M =2 e a% ERERTRE
G PIHRTBEA suitinai near actuator (BIFRL00mMm) oL wotorieftside S| NP pelta ! Nobrske (orizontal tpe) 0 20 FeA-c2080TES ASpBa0TRLE
Gap 100mm DR Motorright side Y R vaskawa P: PNP
D &SR simple linear actuator MR Motor external right side H ) Hera 3PCS
3 " N ML Mot t Lleftsid
M BBRBEFE K orectdrve otary motor LP MZtZ::Lz[::uiw:r l:ft T & pelta TARIE 1 T None
LU Motorexternal upper left J R reducer

I 3% -

=

RP Motor external lower right
RU Motor external upper right

& M I ey A, W X P E -8 & M




m }éﬂlﬂ&%ﬁgﬂ Full-Sealing Belt Driven Linear Actuator OCBlZO Series W : : %

A4k

Motion Control Motion Control
BALAEM/ AN
Motor left side / Motor right side
HNR
/‘ ’ BB motor left side B :Unit: mn —
HNB
M8 T-Nut A HCB
2 R] RS T R 2 E
= = HNT
[/ 1] 2 —
= —.
L |
E*&d 1604_ 370 - ﬁ&&’/ﬁ'fi valid stroke E*& 140

left 1im]t160 right limit140
anm H ?‘2%55% 10MM sate distancel0mn GCB

2= [e e
i)
- . @ = =l GCBS

+ 120 280 GCRS
180 2x 06 .
i 59 EMR
G U F [ [[T=d]le H N
320 ~ Bl
‘ 12x M8 KSR
LNP

REBHNMRERESE “Excluding motor and mounting plate weight

BHITE
Stroke DDR
L 830 930 | 1030 | 1130 | 1230 | 1330 | 1430 | 1530 | 1630 | 1730 | 1830 | 1930 | 2030 | 2130 | 2230 | 2330 | 2430 | 2530 | 2630 | 2730 Rijf%ﬁﬂ
eference
KG 20.9 28] 241 25.7 Rifes) 28.9 30.5 52818 537 555 36.9 38.5 40.1 41.7 43.3 44.9 46.5 48.1 49.7 Sil.3 data

BXITE
Stroke

L 2830 | 2930 | 3030 | 3130 | 3230 | 3330 | 3430 | 3530 | 3630 | 3730 | 3830 | 3930 | 4030 | 4130 | 4230 | 4330 | 4430 | 4530 | 4630 | 4730

k KG 52.9 54.5 56.1 A 598] 60.9 62.5 64.1 65.7 67.3 68.9 70.5 72.1 73.7 75.3 76.9 78.5 80.1 817 83.3 j
/( ’ EE*J‘LEMIJ Motor right side B :Unit: m}

M8 T-Nut A
%w
= =
= —.
L L Il
E*&d 160_, 370 ) AT FE valid stroke A% 140

imi) ight [limit140
teft Lint160 e ﬁéﬁﬁ%low safe distancelOmm et pm

— o
=] =
120
: |
S S
N
ool ]| 3. 20

CREBHAMRERER “Excluding motor and mounting plate weight

BT
Stroke
L 830 930 1030 | 1130 | 1230 | 1330 | 1430 | 1530 | 1630 | 1730 | 1830 | 1930 | 2030 | 2130 | 2230 | 2330 | 2430 | 2530 | 2630 | 2730
KG 20.9 225 24.1 257 | 273 289 30.5 321 & B51G) 36.9 385 40.1 417 433 44.9 465 | 48.1 | 49.7 5I1%S)

BXRITE

Stroke

L 2830 | 2930 | 3030 | 3130 | 3230 | 3330 | 3430 | 3530 | 3630 | 3730 | 3830 | 3930 | 4030 | 4130 | 4230 | 4330 | 4430 | 4530 | 4630 | 4730

k KG 529 | 545 | 56.1 | 57.7 | 59.3 | 609 | 625 | 641 | 657 | 673 | 689 | 705 | 721 | 73.7 | 753 | 769 | 785 | 80.1 | 817 | 833 / K /

—— IR ES-E S M A

3% -8 € M ——"




=\
A1t o

Motion Control

7=\
2 AH 1% %

Motion Control

RE-frELE Acceleration-payload relationship HNR

FaEEESHUT Product performance parameters are as follows

/ " HCR
==
/EERE o o e
Repeat Accuracy EEE{H*EE(mm) i i\ ) o IKF AMEBER horizontal, side use HNB
i005 E_'ﬁz§§i§ (mm) Rated Speed (rpm/min) 500 | 1000 1050 2000 | 2500 | 3000 45 HCB
mm . %
%%EE (mm/s) Maximum speed (mm/s) 2133 4270 | 6400 | 8530 1063012800 35 HNT
RAAMESE JKFAERD (kg) Horizontal(eg) | 45 | 35 | 15 | 10 | 6 | 2 Xvz
Maximum Payload 15
£42 (mm) lead (mm) 256 ﬁg
mg 10
E*ﬁﬁh (N) Rated thrust (N) 47 E; oCB
&
s 6
17T A2 (mm) stroke pitch (mm) 150~5050mm;/100 {81F& 100 mm pitch GCR
2 GCB
AC@HE%K@E (W) AC servo motor output (w) 750
0 GCBS
B2 BEEE (Mm) Beltwidth(mm) 60 2133 4270 6400 8530 10630 12800 e
BEFLEE (mm/s) Maximum speed (mm/s)
BNIMEELEH (mm) High rigidity linear guide(mm) 35X29 ESR
WU EERRHIESE THANERBAERTREE).
Eﬁ@ﬂ%ﬁ 9}4}__ 672(N PN) '\Ijﬁ::m:‘rzf:;‘gﬁlr:ee?oment diagram below.(Do not reach all maximum EMR
Home sensor Outside
EHR
1 DIANREIZEO.4FD 0
31 Acceleration and deacceleration value is set 0.4 second. KSR
B HEHIIFER N.m Alowable overhang RETREE Installation diagram LNP
DDR
STIEMSEER IR uplockinglt y 1 feerenc
3 M5 nuts Qty.(by strok elerence
TIRMS/E B 18 nuts Qty. by stroke) PodmrE | U R Refe
BHATIE stroke 150~950 150~1450 150~1950 2050~2450 2550~5050 =
I down locking plate
8 Quantity 6 8 10 12 30 ~— THHEER
¥BATRAEREA A TH, EAMSERIEEEE. ¥ LA BEERIFAT AR, BE R RIBESINEMEM,
#Standard mounting method is fix from the bottom, using the M5 bolt and nut. #Top fixing plate is optional.
RIFAFHIFER Nm Allowable overhang BESRFRHRE Static loading moment
HER#HSE, BT LR ERE
This picture for reference only, specs details according with the drawing.
A
5050mm 5000mm/s 750W 60mm 35X29-1% ¢ A .
s [+
(B {IUnit:mm) (8 {IUnit:mm) (B4IUnit:N.m)
%z LIRE [ ZIRE
gg%;_eitjj_it Ordering method Horizz}rﬁzﬁﬁation Spee?’bﬁf;um Horizﬂ!\Eﬁtﬁation Speed Maximum R &
2kg 12800mm/s - - - 2kg 12800mm/s - - - MP 41
6kg 10630mm/s = = = 6kg 10630mm/s = = = MR 20
TPA-OCB-140-256-L5050-DL-Y-P75B-N3-F EEEE e
- - - - - — - - - Thetorquevalueinthe chartindicate the center of gravity.
256 | 15kg 6400mm/s = = = 256 | 15kg 6400mm/s - - - HARFIEHERS LA T, RIEEH 71000022,
Lead 35K 4270 Lead 35K 4270 Operation life is 10,000km when the product is using under the specified conditions.
T T— T g VA e el M g mm/s | - i R ERE AR DA BRI EWRA S,
45kg 2133mm/s 100 60 30 45kg 2133mm/s 30 60 100 The standard specification cannot be applied to the use of inverted crane.
Please consultour business if necessary.
fahE 2 AR R
et ST BfEIARZIA—¥IFK Suitable motor brand
FE TS Belt : e
G 8411 13 = HEBE P R E ARDRRS WABES
Motor direction Y. threaded hole e Cﬁgfufpﬁﬁﬂcﬂeﬁng Brake Motor capacity AC-Voltage Servo motor model Driver Model
G: It k hol M
DL EALEM countersunk hole igiggw .
wapm - : = TR (KT
N :':ij!ﬂsem‘seal Fi2 DR B 75: 750W Mitsubishi M Nobrake(tﬂoﬂzontlaltyp)e) 750 220 HG-KR73 MR-J4-70A
C &M Fulseal fead MR BN BRI lK'.l W
H B ssupe 256mm ML sBHISME A7 (it
O BRH entype i LP BHMELMTS g 60/90(RZH) L P e cowiea ) 750 220 MHMD082G1U MBDHT3520
E BBET electiccyinder LU shhEAEM LS , Penasonic o personatpe
L B EH Linear motor RP BHSMEENTE P AT rascon KR
K SRERILA wigh igiity near actuator 150-5050mm RU BHSNEEMLES :§:,ZS:::, T aix T AR F ) 750 220 ECMA-C20807ES ASD-B20721-B
G POBR VA puitin it inearsctusor (BIFBL00mm) oL Wotrleftside = NP petta Nobrake orizonalpe)
Gap 100mm DR Motorright side Y R vaskawa P: PNP
D &SR simple linear actuator MR Motor external right side H ) Hera 3PCS
3 " N ML Mot t Lleftsid
M BRpE SE Direct drive rotary motor LP MZtZ::tz:::Hiw::l:& T & pelta TARIE 1 T None
LU Motorexternal upper left J R reducer

RP Motor external lower right
RU Motor external upper right

A I 2% S-S M I Ty . WY 17 55 ff o E iE WM I e




i!%f%ﬁ) ’éi‘imﬂi%ﬁ?ﬂ Full-Sealing Belt Driven Linear Actuator OCBl40 Series < > m

Motion Control Motion Control
BB AM/ AN
Motor left side / Motor right side
HNR
/‘ , BB motor left side %{ﬁ:Unit:mn —
23.20_, 57 A - -
— =N
7 = HCB
[Te]
2
e %l =7 HNT
i
—
I L
7;%[5&170 . 370 | HRATFE valid stroke AR PR
left|linit170 ight 1imit185
| R LyTy\J AP 10M safe distancelOmn T e
| . . I GCB
- E — GCBS
140 GCRS
270
170 2x @ 8 ESR
70
EMR
< — 3.20 o W L] S
D] I —| EHR
- 7 |
4x M8 LI
CAEHEHAREIREE *Excludingmotor and mounting plate weight LNP
BNITE
Stroke 850 950 1050 2350 DDR
L 885 | 985 | 1085 | 1185 | 1285 | 1385 | 1485 | 1585 | 1685 | 1785 | 1885 | 1985 | 2085 | 2185 | 2285 | 2385 | 2485 | 2585 | 2685 | 2785 | 2885 | 2985 | 3085 | 3185 | 3285 :Sf%ﬁﬂ
eference
KG 27.5|29.7 | 31.9 | 341 | 36.3 | 38.5 | 40.7 | 42.9 | 45.1 | 47.3 | 49.5 | 51.7 | 53.9 | 56.1 | 58.3 | 60.5 | 62.7 | 64.9 | 67.1 | 69.3 | 71.5 | 73.7 | 75.9 | 78.1 | 80.3 data
BT
Stroke
L 3385 | 3485 | 3585 | 3685 | 3785 | 3885 | 3985 | 4085 | 4185 | 4285 | 4385 | 4485 | 4585 | 4685 | 4785 | 4885 | 4985 | 5085 | 5185 | 5285 | 5385 | 5485 | 5585 | 5685 | 5785
k KG 82.5 | 84.7 | 86.9 | 89.1 | 91.3 | 93.5 | 95.7 | 97.9 |100.1|102.3|104.5|106.7 [108.9|111.1 |113.3|115.5(117.7|119.9 [122.1|124.3 |126.5|128.7 | 130.9|133.1 | 135.3 j
/‘ ) EEH-LEMIJ Motor right side B{I:Unit: mh
M8 T-Nut

NS T —
7 e

E I
-
| L I
[R170 370 ; HBATHL valid stroke AP PR 185
left limit170 right limit185
l/y,__‘—_yxj ZAHA R 10M safe distancelOmn
T
2B | 3

=

140 270

170 2x @8

AT 850 950 1050 1150 1350 1450

Stroke
L 885 | 985 | 1085 | 1185 | 1285 | 1385 | 1485 | 1585 | 1685 | 1785 | 1885 | 1985 | 2085 | 2185 | 2285 | 2385 | 2485 | 2585 | 2685 | 2785 | 2885 | 2985 | 3085 | 3185 | 3285
KG 27.5|29.7 | 319 | 34.1 | 363 | 38.5 | 40.7 | 42.9 | 45.1 | 47.3 | 49.5 | 517 | 53.9 | 56.1 | 58.3 | 60.5 | 62.7 | 64.9 | 67.1 | 69.3 | 715 | 73.7 | 759 | 78.1 | 803

BXRITE

Stroke

L 3385 | 3485 | 3585 | 3685 | 3785 | 3885 | 3985 | 4085 | 4185 | 4285 | 4385 | 4485 | 4585 | 4685 | 4785 | 4885 | 4985 | 5085 | 5185 | 5285 | 5385 | 5485 | 5585 | 5685 | 5785

k KG 82.5 | 84.7 | 86.9 | 89.1 | 91.3 | 93.5 | 95.7 | 97.9 100.1{102.3(104.5(106.7 108.9|111.1|113.3|115.5|117.7|119.9|122.1|124.3 |126.5|128.7 | 130.9 [133.1 |135.3 J K

A I Y% Sh-8 & M a—" —— IR ES-E S M A




=\
2 AH 1% %

Motion Control

7=\
2 AH 1% %

Motion Control

RE-frELE Acceleration-payload relationship HNR

FaEEESHUT Product performance parameters are as follows

/ " HCR
SEE _._ FKFAE RS Horizontal
’RE%*Q }; EEENMNEE (mm) Repeated positioning accuracy (mm) +0.05 70 o orizonta HNB
epeat Accuracy :
i O . 05 Eyﬁt}?ﬁ (mm) Rated Speed (rpm/min) 3:1 5:1 71 10:1 60 & HCB
mm — 1 " 50
REEE (Mm/s) Maximum speed (mms) 2333 | 1400 | 1000 | 700 B = HNT
= 40
N « .
%kﬁﬂlﬁié 7}(:Fﬁﬁﬁ (kg) Horizontal (kg) 32 47 58 63 . \\3.1 XYZ
Maxi Payload
erimam Feyes FEHER (kg) vertical (kg) * 11 17 18 20 »
42 (mm) tead (mm) 140 10 ocs
0‘.7 l.|4 2.‘ 3
TEAREHES (N) Rated thrust (N) 320 0 02 04 06 08 10 12 14 16 18 20 22 24 —
= %3 N & E (mm/s) Speed (mm/s) EEEE—
TR EFTHE (mm) stroke pitch (mm) 150~3050mm/100 alB& 100 mm pitch —
EEMHR Vertically
. 22 GCBS
ACEIREIZEE (W) Acservomotoroutput (w) 400 10:1]
20 < GCRS
R FEE (Mm) seltwidth(mm) 25 gg 18 L -
P L.
%wuﬁagﬁ}%m (mm) High rigidity linear guide(mm) 15X12.5 = EMR
14
= EHR
R R URR R 2% ShE 672(NPN) 12 "
Home sensor Outside
KSR
#1 BIANREIREO.4%. 31 Acceleration and deacceleration value is set 0.4 second. 10 o7 A 2}‘33
*2 BEMEAN, ERBHH, AEMSFRENRN, HEE. I | [ LNP
32 Notice, if the belt breaks, the moving parts will fall when the application is vertical. 0 02 04 06 08 10 12 14 16 18 20 22 24
#3BARRERENE, S1279110, %3 Lead is 110mm without gearbox. 2 (mm/s) Speed (mmjs) DDR
Reference
data
RIFREHIFER N.m Allowable overhang ZEREE Installation diagram
FAITIEMSSRIRIEEE M5 nuts Qy.(by stroke)
— . _ . up locking plate 17
BRATE stroke #8 Quantity BRATE stroke #588 Quantity e =
EHREER | TR TR0\
IEER 5, WS % IR < EE 150~500 4 2600~3050 14 down locking plate
This picture for reference only, specs details according with the drawing.

~— THIXEER
ORAMEBRES RN THR, EAMSERBEERE.
s¢Standard mounting method is fix from the bottom, using the M5 bolt and nut.

3050mm 3900mm/s 400W 25mm 15X12.5-1%

# EMRERRIFAT R, EEBRIESIMNEMEM.

BERAFN Ordering method

TPA-OCB-60-140-L3050-MR-Y-P40B-N3-F

NS

Body Width

BT Belt

N 5 [ semi seal
C 2 FH ] Full seal

H B sistype

(0] IZHE', Entype

E EBET electric cylinder

L EgiEgﬁL Linear motor

K %ME@?B High rigidity linear actuator

G Wﬁﬁiﬁﬁéﬁ Built-in rail linear actuator

D B 1R simple linear actuator

M BEIXHEF DIE birect drive rotary motor

=10
Lead

140mm

Stroke
150-3050mm
(j81p@100mm)

Gap 100mm

I 3% -

=

7 E
Motor direction

DL EB#A&M

DR EBALAM

MR EBHINE BT

ML EBHSMNE i

LP BHINEAEM TS
LU EBHSMNEEM £
RP EBHINEEMTH
RU EBHSME BN £

DL Motor leftside

DR Motorright side

MR Motor externalright side
ML Motor external left side
LP Motor external lower left
LU Motor external upper left
RP Motor external lower right
RU Motor external upper right

Y RaA
G: kAL

Y: threaded hole

G: countersunk hole

Mot

4T <=z2UO

A fmh#

LDIRIES

Motor power
20:200W
40: 400W
75: 750W
1K: 1000W

or brand
HAF panasonic
=2 witsubishi
R vaskawa
AR wera
IEI\K Delta

BRI Reducer

FEERA

Photoelectric Mode
N:NPN
P:PNP

= /R0 T

Custom/special processing

3PCS
FARIB T None

BFHREFHIER Nm Allowable overhang

#Top fixing plate is optional.

A
% *
[+
B

s

(B {IUnit:mm)

(B{iIUnit:mm) (B fIUnit:mm)

SRR A B C
10kg | 935 | 235 | 27 10kg 27 | 235 | 935 3kg 885 885
31| 20kg | 405 | 90 | 18 31| 20kg 18 | 90 | 405 31| 6kg 435 435
32kg | 258 | 40 | 10 32kg 10 | 40 | 258 11kg 285 285
25kg | 235 | 125 | 24 25kg 24 | 125 | 235 5kg 885 885
51| 35kg | 610 | 75 15 51| 35kg 15 75 | 610 51| 10kg 435 435
4Tkg | 435 | 40 | 10 47kg 10 | 40 | 435 17kg 285 285
28kg | 1285 | 130 | 25 28kg 25 | 130 | 1285 6kg 885 885
71| 40kg | 835 | 75 15 71| 40kg 15 75 | 835 71| 12kg 435 435
58kg | 535 | 35 | 10 58kg 10 | 35 | 535 18kg 285 285
30kg | 1835 | 130 | 25 30kg 25 | 130 | 1835 6kg 885 885
10| 45kg [1235| 75 | 15 10| 45kg 15 | 75 | 1235 | 10| 13kg 435 435
63kg | 785 | 35 | 10 63kg 10 | 35 | 785 20kg 315 315

RYEEH-8EHRK

(2B4IUnit:N.m)
MY 340
MP 340
MR 62

*IERFIRTHBIEARED.

Thetorquevaluein the chartindicate the center of gravity.
HERRMEHNES AT RIESH 1000022,

Operation life is 10,000km when the productis using under the

specified conditions.
ERERATEERTANE NERRELSBHF LS,

The standard specification cannot be applied to the use of inverted crane.
Please consultour businessif necessary.




% ’é#ﬁﬂ&%ﬁgﬂ Full-Sealing Belt Driven Linear Actuator OCB6O Series #‘\ %

Motion Control % Motion Control

BEAINE M/ BN EEN BYSNEL T/ BHINEE L

Motor external left side / Motor external right side Motor external lower left /Motor external upper left

HNR

ﬁ ) EBANINE M Motor external left side %ﬁ:umt:m} ﬁ ’ EBHIMNE T Motor external lower left %{E:Unit:mh —
HNB

M5 T-Nut
18 L M TR - HCB
o HNT
eI
0 ° r
189. 50
| L Il
L ‘ 105 ﬁ&ﬁ&ss 200 HRATHL valid stroke mﬁ}g&s&s
HEE85 200 AT lid strok JE&EESS Teft] 1imi t85 N ight [Imit85
1zeEfc1 i 155 ,.jﬁ)&ﬁﬁ PP ﬁght ini t85 - . HARE10M safe distancelom T
LA PEES 10MM safe distancelOmn =1 2 [ ——= 1 r
—— e ‘ b 2 O
m=p: Blo= I © -
- g o=
=
65
120 - GCRS
120

4,50 ”ﬁ 60 2x @6 4,50 60 2x @6 ESR

. | [=s] = | ; iiESHilE | o

180 | = 8 x M6 1.80 < 8'x M6 —

KSR

CREBHMEEIRER “Excluding motor and mounting plate weight *FEBHAMLEIRER *Excluding motor and mounting plate weight LNP

BRITE BHITE
Stroke Stroke DDR
L 624 724 824 924 1024 1124 1224 1324 1424 1524 1624 1724 1824 1924 2024 L 530 630 730 830 930 1030 1130 1230 1330 1430 1530 1630 1730 1830 1930 R@f%ﬁ*:\l
eference
KG 5] 8 85 9 O15 10 10.5 11 i3 12 2.5 13 1515 14 145 KG 25 8 8.5 9 85 10 10.5 11 1.5 12 75 113 135 14 14.5 data

BT
Stroke

BHRITE

Stroke
L 2124 2224 2324 2424 2524 2624 2724 2824 2924 3024 3124 3224 3324 3424 3524 L 2030 2130 2230 2330 2430 2530 2630 2730 2830 2930 3030 3130 3230 3330 3430

KG 15 1515 16 16.5 17 fiiE5) 18 185 19 5 20 20.5 21 215 22 j

k KG 15 155 16 16.5 17 175 18 18.5 19 19.5 20 20.5 21 215 22 J k
ﬁ ) EE*H”‘EE@U Motor external right side B :Unit: mh K , EE*[L%‘EEJ: Motor external upper left B :Unit: m}

M5 T-Nut
L [ BMBT R B

18

M5 T-Nut 1
LN TE A BY R, 1
SVe
—————————————————————————

L , —
Je Hapiiss 200 AT A valia stroke fitilliss =
left 1init85 ﬁéEEEIOMM safe distancelOmn right 1imit85

Hach

|

95. 50
()
il

GAPEB10MM valid stroke

”ﬁ?
]
=
I
i
g
[

f85 200 AT HATRE safe distancelOm Hi B85
65 left|limit85 L right |imit85
65 105 T 1
120 120
4,50 60 2x 06 4.50 ] 60 2x &6
< = T S i = T
o ma || [= ! 3 D@m= |
1.80 © 8 x M6 1.80 © 8" x M6
- = 100 I, =
CAEHENAMZERER *Excluding motor and mounting plate weight *REBHMLERER *Excluding motor and mounting plate weight
BHITE BHITE
Stroke Stroke
L 624 724 824 924 1024 1124 1224 1324 1424 1524 1624 1724 1824 1924 2024 L 530 630 730 830 930 1030 1130 1230 1330 1430 1530 1630 1730 1830 1930
KG 5 8 8.5 9 9.5 10 10.5 11 115 12 12.5 13 1355 14 145 KG 5 8 8.5 9 95 10 10.5 11 1115 12 12,5 ) 135 14 14.5

BHRITE BXITE

Stroke Stroke

L 2124 2224 2324 2424 2524 2624 2724 2824 2924 3024 3124 3224 3324 3424 3524 L 2030 2130 2230 2330 2430 2530 2630 2730 2830 2930 3030 3130 3230 3330 3430

K KG 15 jIi5H5) 16 16.5 17 JIYE5) 18 185 19 19.5 20 20.5 21 215 22 / K KG 15 155 16 16.5 17 fiY/5) 18 18.5 19 19.5 20 20.5 21 215 22 j

—— IR ES-E S M A

3% -8 € M ——"



=24

A4k

OC B6O NEIES

’ éi‘j I‘ZH & %ﬁgﬂ Full-Sealing Belt Driven Linear Actuator

Motion Control Motion Control
Motor external lower right /Motor external upper right
HNR
/‘ ’ FBHIMNEG T Motor external lower right BL:Unit: mh el
HNB
M5 T-Nut
h—%: 14 VTR HCB
iR i HNT
18
| L -
105 (85 200 B ATHE valid stroke Eﬁg&%
65 left{1imit85 ﬁ%ﬁﬁ%l()MM safe distancel0m right|limit85
— T =—— T
| - ‘
| 720 i E = GCB
- GCRS
120
4.50 60 2x 06 ESR
(=) Il
N T T ]
o N =i || [ | EMR
1.80' | < ] 8 x M6 EHR
KSR
CAEHEHAREIRERE *Excluding motor and mounting plate weight LNP
BRITE
Stroke DDR
L 530 630 730 830 930 1030 1130 1230 1330 1430 1530 1630 1730 1830 1930 BERK
Reference
KG 75 8 85 9 9.5 10 10.5 11 115 12 125 13 135 14 14.5 data
BNITE
Stroke
L 2030 2130 2230 2330 2430 2530 2630 2730 2830 2930 3030 3130 3230 3330 3430
k KG 15 155 16 16.5 17 17.5 18 185 19 19.5 20 20.5 21 215 22 j
/( ’ EEASMNE A £ Motor external upper right B :Unit: m}
M5 T-Nut
L REME TR R 1)
5 I
; = f
65 ' LA BB 10MM safe distancelOmn
[E85 200 HRATFE valid stroke A bz [E85
105 left|limit85 L right Jimit85
; |
120
.50 60 2x @6
& T T e e T
S| =
g = ] = ||
. - =
1.80 © 8' x M6

PREBHMRERER “Excluding motor and mounting plate weight

BT

Stroke
L 530 630 730 830 930 1030 | 1130 | 1230 | 1330 | 1430 | 1530 | 1630 | 1730 | 1830 | 1930
KG 75 8 8.5 9 95 10 105 11 115 12 125 13 135 14 145

BT

Stroke
L 2030 | 2130 | 2230 | 2330 | 2430 | 2530 | 2630 | 2730 | 2830 | 2930 | 3030 | 3130 | 3230 | 3330 | 3430

k KG 15 155 16 165 17 175 18 185 19 195 20 205 21 215 2 / K /
-8 E ¢ R e— — B-%8 E ¢ F  e——
— - B B8 15 - 5 X 5 420



=\
2 AH 1% %

Motion Control

7=\
2 AH 1% %

Motion Control

RE-frELE Acceleration-payload relationship HNR

FaEEESHUT Product performance parameters are as follows

/ \ HCR
S yERF N IKTAE S Horizontal
g EE*Q}; 5 5 E{IF5 E (mm) Repeated positioning accuracy (mm) +0.05 %0 orizonta HNB
Repeat Accuracy 10:1
i O . 0 5 O3K%E53R (mm) Rated Speed (rpm/min) 5:1 7:1 10:1 _S{Z HCB
mm . %A1 K
'_'lzai = ]z E (mm/s) Maximum speed (mm/s) 1400 1000 700 #EZ 60 el HNT
z 50
-~ i = 5 XYz
%kﬁﬂlﬁié 7}(:Fﬁﬁﬁ (kg) Horizontal (kg) 40 55 80 %0 1
i load
Maximum Payloa ﬁﬁﬁﬁﬁ (kg) Vertical (kg) %2 15 18 20 30
20
£72 (mm) lead (mm) 140 5 0CB
ER o | 4] -
E (N) Rated thrust (N) 320 0 02 05 08 11 14 17
N EE (mm/s) Speed (mm/s)
FRAEATRZ (mm) stroke pitch (mm) 150~3050mm/100 alB& 100 mm pitch —
EF=REYE] Vertically GCBS
s 22
ACEIREIZEE (W) Acservomotoroutput (w) 750 2 10:1 ‘
BN GCRS
+ 18
R BERE (Mm) Beltwidth(mm) 30 "
B 16 1— ESR
2
SN EZEEE (mm) High rigidity linear guide(mm) 20X17.5 z u .
12
R =R 25 SME 10 EHR
R RN 672(NPN)
Home sensor Outside 8 SR
K
#1 BIANREIREO.4%. 31 Acceleration and deacceleration value is set 0.4 second. 6
%2 BEEA, SREIR, AANSERENER, §BE. kU LNP
32 Notice, if the belt breaks, the moving parts will fall when the application is vertical. 0 0.2 0.5 0.8 11 14 17
#3BARRERENE, S1279110, %3 Lead is 110mm without gearbox. SEE (mm/s) Speed (mm/s) DDR
Reference
data

BIFAEHIFER N.m Allowable overhang

RHEREE Installation diagram

FBATIEMSFRIZIEE M5 nuts Qty.(by stroke)
BRATE stroke

2600~3050 14

up locking plate

BRATE stroke LEiAEER

150~500 4

¥ 2 Quantity # & Quantity

720\

down locking plate

~— THIXEER

@ﬁ

HER#HSE, BT LR ERE

This picture for reference only, specs details according with the drawing.

ORAMEBRES RN THR, EAMSERBEERE.
s¢Standard mounting method is fix from the bottom, using the M5 bolt and nut.

3050mm 5000mm/s 750W 30mm 20X17.5-1%

# EMRERRIFAT R, EEBRIESIMNEMEM.
#Top fixing plate is optional.

BERAFN Ordering method

TPA-OCB-80-140-L3050-DL-Y-P40B-N3-F

BFHREFHIER Nm Allowable overhang

A
B
c A
[
B

bk

(#{IUnit:mm) (#{IUnit:mm) (#{IUnit:mm) (8 4ZUnit:N.m)
AR AR 3 ME=RsE EERE
10kg | 908 | 288 | 48 10kg | 48 | 288 | 908 3kg 1258 | 1258 P 760
RS Belt b 51| 20kg | 558 | 168 | 30 51| 20kg | 30 | 168 | 608 | | 51| 6kg 658 658 MR 100
i Taion vonsL Motor povier B fﬁ%ﬁﬁgcﬂeﬁ 40kg | 408 | 118 | 23 40kg | 23 | 118 | 408 15kg 458 458 *NERFIRTOMIE, RRE D,
G It K hol . = =i Thetorquevaluein the chartindicate the center of gravity.
DL LA coumepamoe igj iggw 25kg | 758 | 168 | 30 25kg | 30 | 168 | 758 skg 608 608 AN ES AT RIS HH10000AE,
N 5 semiseal 212 DR BHAEM 71 35kg 575 | 123 24 71 35kg 23 118 | 583 71 10kg 488 488 Operation lifeis 10,000km when the product s using under the
C 27 Fullseal Lead MR BN EHIF 75:750W specified conditions.
n 1K: 1000W 55k 420 | 93 20 55k 20 88 | 458 18k 408 408 AR ERATEERTENE NERZRIBEERALS.
H E,lj"’ JIstype 140mm ML EEHW}\EE*E & 2 2 The standard specification cannot be applied to the use of inverted crane.
O BRHFL entype LP EHINEEMTA B 28kg 908 | 148 28 28kg 28 148 | 958 6kg 558 558 Please consult our business if necessary.
. =32 [:]=]
E EEEI Electric cylinder LU EE*}WI‘EEMUJ:H Motor brand ™ 1 10:1 40kg 708 113 23 10:1 40kg 23 113 758 10:1 12kg 458 458
L ngEgﬁL Linear motor RP @HWFEEMU"FE P WTF Panasonic phj:E E\E?é%gd
o otoelectric Mode
K BB igh gty near acttor 150-3050mm RU HBHOME L5 . : 80kg | 558 | 83 | 18 80kg | 18 | 83 | 608 20kg | 358 358
N L M =2 witsubishi N: NPN
G Wﬁﬁiﬁﬁéﬁ Built-in rail linear actuator (IEﬂBmmOmm) DL Motorlg!tsld.e P °
Gap 100mm DR Motorright side Y R vaskawa P: PNP
D &SR simple linear actuator MR Motor externalright side H  FR) rcra 3PCS
3 " N ML Mot t Lleftsid

M ESREEFE 5 sty i A R T

LU Motor external upper left I REM reducer

RP Motor external lower right
RU Motor external upper right

A I Y% Sp-8 S M I Ty A, WY A P E - & M



7=\
2 AH 1% %

Motion Control

BEAINE M/ BN EEN

Motor external left side / Motor external right side

’é#ﬁﬂ&%ﬁgﬂ Full-Sealing Belt Driven Linear Actuator

| ) EBANINE M Motor external left side

M5 T-Nut
T

right 1imit110

REBHNMRERESE “Excluding motor and mounting plate weight

I
I |
Jd1I0 300 A AT valid stroke Ai B ERLLO
left|limitl10 LA PEES10MM safe distancelOmn
2 4E 0.
o 300
190 4x M8
90
T = 1
O
[Cl=al {[ = 1 ]
?
1x @ 8

%m:Unit:mh

BHRITE
Stroke
L 769 869 969 1069 1169 1269 1369 1469 1569 1669 1769 1869 1969 2069 2169
KG 10.9 11.8 12.7 136 14.5 15.4 16.3 g2 181 19 158 20.8 217 226 245

BHRITE

Stroke

L 2269 2369 2469 2569 2669 2769 2869 2969 3069 3169 3269 3369 3469 3569 3669
K KG 24.4 253 26.2 27.1 28 28.9 29.8 30.7 31.6 325 33.4 343 35.2 36.1 37 J
K | EBHINB M Motor external right side ﬁ{ﬁ:Unit:mN
M5 T-Nut

right limit110

CREBHAMRERER “Excluding motor and mounting plate weight

L ‘
FEARBR110 300 HMATHRvalid stroke Eff&ﬁ@go
feftlinit1io ZAPEES 10MM safe distancelOmn
Bk Iz )
| 80 300
190 1x M8
90
[ -~ — T
ImEDmE 1 ]
1x @ 8

OC BSO NEIES

BYSNEL T/ BHINEE L

Motor external lower left /Motor external upper left

7=\
2 AH 12 %

Motion Control

ﬁ ’ EE*;WI‘EE—F Motor external lower left

M5 T-Nut
SR RPH ST 82 R

120 Zﬁﬁﬁﬁno

300

B HATFEvalid stroke

R

left|limit110

LA PRBE10MM safe distancelOmm

right linj

104

o

4 x M8

66

*FAEEHNIRERERE “Excluding motor and mounting plate weight

BXITE
Stroke

L 680 780 880 980

1080

4x @8

1180 1280 1380 1480 1580 1680 1780

1880

110
it110

1980

B Unit: mh

2080

KG 10.9 118 127 13.6

145

1514 16.3 17.2 18.1 19 e 20.8

217

22.6

235

BT

Stroke

L 2180 2280 2380 2480

2580

2680 2780 2880 2980 3080 3180 3280

3380

3480

3580

28

289 29.8 30.7 316 B2i5 33.4 343

35.2

36.1

k KG 244 253 26.2 27.1

—

K ’ EBHNINEE L Motor external upper left

20

56

right limit110

110

REBHMERERER “Excluding motor and mounting plate weight

[=1
g o o B
TR |2 & 5
= Teft|limit110 4B LOMMvalid stroke
= L 300 A XATHE safe distancelOmn o
L
‘ T
300
7
190
§ 9 1x M8
2.50 = ¢ = ‘
| H‘ mal || [ 1 |
?
4x @8

g7 :Unit: mh

BRITIE BRITE
Stroke 1550 Stroke
L 769 869 969 1069 1169 1269 1369 1469 1569 1669 1769 1869 1969 2069 2169 L 680 780 880 980 1080 1180 1280 1380 1480 1580 1680 1780 1880 1980 2080
KG 10.9 11.8 12.7 13.6 14.5 15.4 16.3 17.2 18.1 19 19.9 20.8 21.7 22.6 235 KG 10.9 11.8 12.7 13.6 145 15.4 16.3 17.2 18.1 19 19.9 20.8 217 22,6 23.5
BRITIE BRITE
Stroke Stroke
L 2269 2369 2469 2569 2669 2769 2869 2969 3069 3169 3269 3369 3469 3569 3669 L 2180 2280 2380 2480 2580 2680 2780 2880 2980 3080 3180 3280 3380 3480 3580
K KG 24.4 25.3 26.2 27.1 28 289 29.8 30.7 31.6 325 334 343 35.2 36.1 37 / K KG 24.4 25.3 26.2 27.1 28 28.9 29.8 30.7 31.6 325 334 343 35.2 36.1 37 j
= 0 M= W/ = O M A/
A I Y% Sh-8 & M a—" —— IR ES-E S M A

HNR

HCR

HNB

HCB

HNT

GCB

GCBS

GCRS

ESR

EMR

EHR

KSR

LNP

DDR

SEHK

Reference
data



% }éi‘ﬂ’ﬂ&%ﬁgﬂ Full-Sealing Belt Driven Linear Actuator OCBSO Series ) k %

Motion Control Motion Control
Motor external lower right /Motor external upper right
HNR
/‘ , FBHIMNEG T Motor external lower right BL:Unit: mh el
HNB
200. 50 HCB
M5 T-Nut
‘! SR EPHBEMET R 4R A
. . HNT
I L
JERBRL10 300 HRATFE valid stroke Atk PR110
left Jimit110 i ight Linf
ertyimit 224 BB 10MM safe distancelOm right Hinitl10
L ’ O ’ GCB
GCBS
300 GCRS
190
. 90 S ESR
87 S
Lo T T T
il lE 1|
=l —
O [ + I
250 |~ 5 EHR
1x @8
KSR
REBHNMRERESE “Excluding motor and mounting plate weight LNP
BRITE
Stroke DDR
L 680 780 880 980 1080 1180 1280 1380 1480 1580 1680 1780 1880 1980 2080 BERK
Reference
KG 10.9 11.8 12.7 136 14.5 154 16.3 17.2 18.1 19 19.9 20.8 217 226 235 data
BNITE
Stroke
L 2180 2280 2380 2480 2580 2680 2780 2880 2980 3080 3180 3280 3380 3480 3580

k KG 24.4 253 26.2 27.1 28 28.9 29.8 30.7 316 325 334 343 35.2 36.1 37 j
/‘ ) EBHNIMNE A L Motor external upper right B :Unit: mh

s E
s i -
B =0 O
e ]
80 Toft limit110 4P BS10MM safe distancelOmm right 1infit110
120 fR110 300 HRATFE valid stroke E*&[EFHO
L
it -
300
190 4 x M8
90 -
I T il
[Ema [ )]
I t T
4x @8

CREBHAMRERER “Excluding motor and mounting plate weight

BHRITE
Stroke
L 680 780 880 980 1080 1180 1280 1380 1480 1580 1680 1780 1880 1980 2080
KG 10.9 11.8 12.7 13.6 145 154 16.3 17.2 18.1 19 19.9 20.8 2 226 RE15)

BHRITE

Stroke

L 2180 2280 2380 2480 2580 2680 2780 2880 2980 3080 3180 3280 3380 3480 3580

k KG 244 R5) 26.2 271 28 289 29.8 30.7 316 B285) 334 343 352 36.1 37 J K /

3% -8 € M ——"

—— IR ES-E S M A




7=\
2 AH 1% %

Motion Control

7=\
2 AH 12 %

Motion Control

RE-frELE Acceleration-payload relationship HNR

RS HUT Product performance parameters are as follows

4 \ HCR
SR N 7K 48 Horizontal
4 EE*@}; EEENMNEE (mm) Repeated positioning accuracy (mm) +0.05 100 orizonta HNB
Repeat Accuracy o1
i O . 0 5 Eyﬁt}?ﬁ (mm) Rated Speed (rpm/min) 5:1 7:1 10:1 %0 ) HCB
mm . 1 #E 8o
SEEE (mm/s) Maximum speed (mm/s) 1920 1371 960 g g . HNT
= 70 <
&
o N = XYz
%kﬁﬂﬂﬁié 7}(:Fﬁﬁﬁ (kg) Horizontal (kg) 50 70 90 .
Maxi Payload
erimam Feyes FEHER (kg) vertical (kg) * 20 40 50 © 1
S2 (mm) tead (mm) 192 " ocB
0.96 l.‘7 1.92
TEAREHES (N) Rated thrust (N) 420 0 04 06 08 10 12 14 16 18 20 22 —
» 3 E (mm/s) Speed (mm/s)
FRAEATRZ (mm) stroke pitch (mm) 150~3050mm/100 alB& 100 mm pitch —
BEEHMEA Vertically o
70
AC@HEE]E&@E (W) AC servo motor output (w) 750
60 GCRS
&%ﬁg (mm) Belt Width(mm) 50 w3 5o 10:1|
55 ESR
4 7
= 40
ERIMEELLEH (mm) High rigidity linear guide(mm) 30X23 & .
30
R R 88 sheE 672(NPN) 2 2 EhR
Home sensor Outside
KSR
#1 BIANREIREO.4%. 311 Acceleration and deacceleration value is set 0.4 second. 0 o006 15 15
*2 BEMEAN, ERBIH, AEMSFRENRN, B8R, I LNP
32 Notice, if the belt breaks, the moving parts will fall when the application is vertical. 0 04 06 08 10 12 14 16 18 20 22
%3 BARRERENE, $127110, %3 Lead is 110mm without gearbox. 3% E (mm/s) speed (mmys) DDR
Reference
data

B HHIIFER N.m Alowable overhang RIEREE Installation diagram
FAITIEMSSRIRIEEE M5 nuts Qy.(by stroke)
BRATE stroke

2600~3050 14

up locking plate

BRATE stroke LA EER

150~500 4

# 2 Quantity # & Quantity

720\

down locking plate

~— THIXEER

@ﬁ

HEER#HSE, BT LR ERE

This picture for reference only, specs details according with the drawing.

ORAMEBRES RN TR, EAMSERBIEERE.
s¢Standard mounting method is fix from the bottom, using the M5 bolt and nut.

3050mm 5000mm/s 750W 50mm 30X23-1%

# EMAERIRIFAT R, EEBRIERIMNEMEM.
#Top fixing plate is optional.

BERAFN Ordering method

TPA-OCB-100-192-L3050-MR-Y-P75B-N3-F

BFREHIFER Nm Allowable overhang

A
B
c A
[
B

bk

(#{IUnit:mm) (#{IUnit:mm) (#{IUnit:mm) (84ZUnit:N.m)
SRfEE AR EEEE Y 3 ME=RsE EERE
5 SIEE. A B C fl MEEE A B C 0 0
25kg | 908 | 288 | 48 25kg | 48 | 288 | 908 Skg 1258 1258 MP 900
R selt e : i 51| 35kg | 558 | 168 | 30 51| 35kg | 30 | 168 | 608 | | 51| 10kg 658 658 MR 200
75 & G: kTl . = — NN
ke i SR, Htor poue SHsEmL Sokg | 408 | 118 | 23 Sokg | 23 | 118 | 408 kg | 458 458 DSERARTRAMIE, RE D, _
DL EBHAM G countersunk hole 20:200W 28k 28k oK Thetorquevaluemth?chart|nd|cate‘thecenterofgrawty.
. 40: 400W g | 758 | 168 | 30 g | 30 | 168 | 758 8 608 608 AL FHMER AT RIESHHI10000AE,
N 2 ] semi seal 852 DR EBHAEM 71 40kg 575 | 123 24 71 40kg 23 118 | 583 71 12kg 488 488 Operation lifeis 10,000km when the product is using under the
C 23 Fuliseal Lead MR BHINEE 75:750W specified conditions.
: . ARSI BRESHRALS,
H Elfm JIS type 192mm ML BBHISNE 1K: 1000w Tokg 420 | %3 20 T0kg 0 88 | 48 40ke 408 408 Ei?:ifdfﬁii?{iﬁﬁ:&Zﬂ?fz?ppliiojtﬁketse ofinverted crane.
O FRHFL entype LP EBHINEEMTA YT 30kg 908 | 148 28 30kg 28 148 | 958 6kg 558 558 Please consult our business if necessary.
E EBET eiectric ylinder LU mBHsMEEM S Motor brang 101 4skg | 708 | 113 | 23 | [101| 45kg | 23 | 113 | 758 | [101] 13kg | 458 458
L Eiﬁfﬂm Linear motor ~ RP @H].%EEMU'FE P *’A-F Panasonic Phﬁ:If ﬁg?é%ud
r otoelectric Mode
K SREERE LR wigh rigicity linear actuator 150-3050mm RU BANE AN LTS —= : 90kg | 558 | 83 | 18 90kg | 18 | 83 | 608 50kg 358 358
N L M =2 witsubishi N: NPN
G Wﬁﬁiﬁﬁéﬁ Built-in rail linear actuator (IE—JBMIOOmm) DL Motorlg!tsld.e =1 :
Gap 100mm DR Motorright side Y R vaskawa P: PNP
D fEI S HR4R simple linear actuator MR Motor external right side H R neea 3PCS
3 . N ML Mot t lleftsid
M ESREEFE 5 sty S A o
LU Motor external upper left 3 HEN reducer

I} 3% -

RP Motor external lower right
RU Motor external upper right

238 M I e A, e IR £ 1% oh- 8 & M




7=\
2 AH 1% %

Motion Control

BEAINE M/ BN EEN

Motor external left side / Motor external right side

’é#ﬁﬂ&%ﬁgﬂ Full-Sealing Belt Driven Linear Actuator

ﬁ ) EBANINE M Motor external left side

ARBR121

right limit121

12 x M8

REBHNMRERESE “Excluding motor and mounting plate weight

—A
M8 T-Nut
$é RS TR
= = = =
I
L
m_mlzg‘ 290 ‘ A AT FE valid stroke
Teft[limit129 H 4B 10MM safe distancelOmn
N —
=A
3 O
100
200
10. 20 120 2x @6
SR : =
% - I % g U
3.20 | 8

%m:Unit:mh

AT
Stroke
L 820 920 1020 1120 1220 1320 1420 1520 1620 1720 1820 1920 2020 2120 2220
KG 16 17.5 19 20.5 22 235 25 26.5 28 29.5 31 8215} 34 B5i5) 37
AT
Stroke
L 2320 2420 2520 2620 2720 2820 2920 3020 3120 3220 3320 3420 3520 3620 3720
K KG 385 40 41.5 43 44.5 46 47.5 49 50.5 52 535 55] 56.5 58 5915 J
K | EBHINB M Motor external right side 4 ﬁ{ﬁ:Unit:mN
M8 T-Nut
NS T
< /] : : : : :
© — — —
= =
-]
21 A
L -
IE129, . 290 ‘ 1 IATFE sare distancelom AP 121
left flimit129 GAFAB1OMM valid stroke right linitl2l
— E =
100
200
S 40
S =
=S I | REENIE H
3.20 | & et |
12 x M8
CREBHAMRERER “Excluding motor and mounting plate weight
BRI
Stroke
L 820 920 1020 1120 1220 1320 1420 1520 1620 1720 1820 1920 2020 2120 2220
KG 16 17.5 19 20.5 22 235 25 26.5 28 29.5 31 325 34 35.5 37
BT
Stroke
L 2320 2420 2520 2620 2720 2820 2920 3020 3120 3220 3320 3420 3520 3620 3720
41.5 43 44.5 46 475 49 50.5 52 53.5 55) 56.5 58 59.5 /
= 0 M= W/
' WEVESECEENVEESECEVAE S

BYSNEL T/ BHINEE L

Motor external lower left /Motor external upper left

7=\
2 AH 12 %

Motion Control

ﬁ ’ EE*;WI‘EE—F Motor external lower left

*FAEEHNIRERERE “Excluding motor and mounting plate weight

—A
M8 T-Nut
L BEMBT R B )
= — — — — —
—la
‘ L
1150 Ejﬁ[ﬁﬁm 290 5 3UATFE valid stroke A pR121
00 Teft 1init129 G2 e B LOMM safe i scancelomn Tight limiti21
{ S —
o~
N
- 7E | -©- E =
i o .
120 2x @6
10. 20 | 40
- -
! Wil IiE n\
e Ir
.20 | S - 2% M8

B Unit: mh

BRI
Stroke
L 700 800 900 1000 1100 1200 1300 1400 1500 1600 1700 1800 1900 2000 2100
KG 16 17.5 19 20.5 22 235 25 26.5 28 29.5 31 325 34 355 37
HRITHE
Stroke
L 2200 2300 2400 2500 2600 2700 2800 2900 3000 3100 3200 3300 3400 3500 3600
k KG 385 40 415 43 445 46 475 49 50.5 52 53.5 55 56.5 58 59.5 j
K ’ EBHNINEE L Motor external upper left %ﬁi:Unit:mh
—A
M8 T-Nut
o 21 ] LB MB TR 08 5
I
2 = = = = = =
f=1
© 7 — — — —
T of =
I
@ E =
=
10MMvalid strok
left [linit129 yéﬁﬁf&% valid stroke right Jimiti21
FEPRBE129 290 A WATHE safe distancelomn FitgR121
T L T
10. 20 200
S L 120 2x P 6
S 409
3.20 B B 1
3.20 | 7 W‘ ‘ 2 u

REBHMERERER “Excluding motor and mounting plate weight

12 x M8

BHITE
Stroke

L 700 800 900 1000 1100 1200 1300 1400 1500 1600 1700 1800 1900 2000 2100

KG 16 175 19 20.5 22 235 25 26.5 28 29.5 31 325 34 35.5 37
BHITE
Stroke

L 2200 2300 2400 2500 2600 2700 2800 2900 3000 3100 3200 3300 3400 3500 3600

K KG 38.5 40 41.5 43 44.5 46 47.5 49 50.5 52 53.5 55 56.5 58 59.5 j
= ME W
— Y E T E M

HNR

HCR

HNB

HCB

HNT

GCB

GCBS

GCRS

ESR

EMR

EHR

KSR

LNP

DDR

SEHK

Reference
data



m }éﬂlﬂ&%ﬁgﬂ Full-Sealing Belt Driven Linear Actuator OCBlOO Series W : : %

A4k

Motion Control Motion Control
Motor external lower right /Motor external upper right
HNR
/‘ ’ FBHIMNEG T Motor external lower right %ﬁ:Unit:mn el
HNB
=i HCB
241 M8 T-Nut
)
A LT HMBT 7Rt HNT
o 1o ]
= = = = = =
< — — — — —
=
21 I
| L
150 femqm
100 JEREIR 129 290 B RATHE valid siroke
left 1imit129 . ight limi
eft limie 224 P B 10MM safe distancelOmm righy linit1zl
— T—————7
- - B R GCB
|28 = = - I
GCBS
1420 2x @6 ESR
o 110.20 |
5 T = S EMR
4 g il Re:IE H\ —
1 1 Ir [ EHR
320 | S = 12 x M8
KSR
LNP
BRI
Stroke DDR
L 700 800 900 1000 1100 1200 1300 1400 1500 1600 1700 1800 1900 2000 2100 :;‘f%‘ﬁﬂ
eference
KG 16 7.5 19 20.5 22 285 25 26.5 28 25 31 5255) 34 B5%) 37 data
BRI
Stroke
L 2200 2300 2400 2500 2600 2700 2800 2900 3000 3100 3200 3300 3400 3500 3600

k KG 385 40 415 43 445 46 415 49 50.5 52 53.5 55 56.5 58 59.5 j
/( ’ EBHNIMNE A L Motor external upper right B :Unit: m}

—A
M8 T-Nut
T,#—{ [
. . _
= | — : : : :
—F
21 ey
T —
Qf | | =28
= L = =
100 A FE B 10MM safe distancelomn
150 i [R129 290 ﬁﬁ?‘}ﬁvalid stroke E* 121
Teft [imit129 right llimit121
L
= T
10. 20 200
S ] 120 2x @6
9
.2
BRITIE
Stroke
L 700 800 900 1000 1100 1200 1300 1400 1500 1600 1700 1800 1900 2000 2100
KG 16 175 19 20.5 22 235 25 26.5 28 29.5 31 325 34 B5I5 37
BRITIE
Stroke
L 2200 2300 2400 2500 2600 2700 2800 2900 3000 3100 3200 3300 3400 3500 3600

k KG 385 40 415 43 44.5 46 41.5 49 50.5 52 5E15] 55 56.5 58 59.5 / K /

—— IR ES-E S M A

3% -8 € M ——"




=\
2 AH 1% %

Motion Control

7=\
2 AH 1% %

Motion Control

RE-frELE Acceleration-payload relationship HNR

FaEEESHUT Product performance parameters are as follows

4 \ HCR
SR N 7K 48 Horizontal
g EE*Q}; 5 5 E{IF5 E (mm) Repeated positioning accuracy (mm) +0.05 230 orizonta HNB
Repeat Accuracy 200 20:1
i O . 0 5 Eyﬁt}?ﬁ (mm) Rated Speed (rpm/min) 10:1 15:1 20:1 190 HCB
mm . % #3
'_'lzai = ]EE (mm/s) Maximum speed (mm/s) 1120 750 560 §§ 170 15:1 HNT
2 150 -
IKFE kg) Horizontal (k 100 150 200 = 130 XYz
S ATRER KTAEF (kg) Horizontal (kg) 100 10:1
Maxi Payload
erimum Fayiod FEEA (kg) vertical (ke) *2 20 40 60 %
F42 (mm) tead (mm) 224 0 oce
- 50 .56 0,‘ 5 .‘lZ
TEMEHEST (N) Rated thrust (N) 900 0o 03 05 07 09 10 13 15 GCR
— = %3 VR BEEE (Mm/s) Speed (mm/s) CE
TR EFTHE (mm) stroke pitch (mm) 150~4050mm/100 gl 100 mm pitch
. GCBS
ACRIRS AR E (W) AC servo motor output (w) 750 " EHEM vertically
- GCRS
RHTEEE (Mm) Belt width(mm) 50 #3 6 20:1 -
B3
2 50
Ewuﬁagﬁ‘}%m (mm) High rigidity linear guide(mm) 30X26 £ 4 5:1 EMR
0 EHR
R R URR R 2% ShE 672(NPN) 20 0:1
Home sensor Outside
10 KSR
1 DANAEIZEO.470 31 Acceleration and deacceleration value is set 0.4 second. 5
%2 BEEAR, SRBIR, AANSERENER, §BE. e P it LNP
32 Notice, if the belt breaks, the moving parts will fall when the application is vertical. 0 03 05 07 09 10 13 15
#3BARRERENE, S1279110, %3 Lead is 110mm without gearbox. SEE (mm/s) Speed (mm/s) DDR
Reference
data

BIFAESIFER N.m Allowable overhang

RHEREE Installation diagram

FZATIEMSSERIEMBELE M5 nuts Qty.(by stroke)

R ) —im ) locking plat
BRATIE stroke #h& Quantity BRATIE stroke ¥ & Quantity Eﬁié{%‘gﬁ; @ H TR E
100~500 4 2600~3000 14 = )
ﬂ:tﬂﬁ%%%; HEMBIERRTE® down loc}ﬂng plate
This picture for reference only, specs details according with the drawing. 600~1000 6 3100~3500 16 ~— THRXEER
1100~1500 8 3600~4050 18

4050mm 5000mm/s 750W 50mm 30X26-1%

RAMEERES RN TR, EAMSERBEER.

s¢Standard mounting method is fix from the bottom, using the M5 bolt and nut.

# ERERIRIFAT R, EEBRIERIMNEMEM.
#Top fixing plate is optional.

BERAFN Ordering method

TPA-OCB-120-224-L4050-MR-Y-P75B-N3-F

BFHREFHIER Nm Allowable overhang

A
B
c A ¢
c A
B

(#{IUnit:mm) (#{IUnit:mm) (#{IUnit:mm) (8 4ZUnit:N.m)
Rk A R AT E x| E: ME=E
Ecand BodyWidth E,JEE Horizzjfnﬁ%ﬁation A B c side mounting A B c Vertical installation A c LY ey
10kg 618 | 71 5 10kg 618 | 71 95 3kg 900 900 MP 1700
RIS Belt - : eprles 10:1| 20kg | 418 | 31 | 45 | [102| 20kg | 418 | 31 | 45 | |02 6kg 450 450 MR Sy
.75 1A G: kTl n %= — e
wotor direction Sish, i SHsEmL 100kg | 257 | 12 | 25 100kg | 257 | 12 | 25 20kg | 300 300 NERFEAIIEHRE D
m G: countersunk hole 20:200W - Thetorquevalueinthe chartindicate the center of gravity.
DL el 10+ 100W 25kg | 570 | 138 | 185 25kg | 570 | 138 | 185 5kg 900 900 AR RAENE R RS M H100004 2,
N 35 H] semi seal 212 DR BHAEM . :7 W 151 35kg | 335 | 67 | 85 151 35kg | 335 | 67 | 85 151| 1lokg 750 750 Operation life s 10,000km when the product s using under the
C 2 $F rullseal Lead MR BHIINBEEIT 5:750 specified conditions.
m 1K: 1000W 150k 238 40 52 150k 238 40 52 40k 300 300 AR ERATEERTENE NERZRIBEERALS.
H Elﬂ' S type 224mm ML EE*)'I,?}\EE%H’ g g g The standard specification cannot be applied to the use of inverted crane.
O BRHFL entype LP EHINEEMTA YT 28kg 304 | 114 | 130 28kg 304 | 114 | 130 6kg 900 900 Please consult our business if necessary.
E BT electiccyinder LU BHSNEEM £ Wotor brand - 20| 40kg | 209 | 67 | 80 | |20 40kg | 209 | 67 | 80 | [201] 12kg 450 450
L B BB Lnear motor RP BHSNEENTE P T ranasoric LB
o - otoelectric Mode
K SIEB wigh ity neorocutor 150-4050mm Ry @HABEMES M =2 e N: PN fokgj o6 | =2 | &0 fokglj o6 | 2 | o0 Sk | 30 | 300
G PIERTVARLE suitt-in rail linear actuator (/E]FFL00mm) DL Motor left side = :
Gap 100mm DR Motorright side Y R vaskawa P: PNP
D &SR simple linear actuator MR Motor externalright side H R nera 3PCS
3 . N ML Mot t Lleftsid
M BEIERRSS 35 v o e 2 e R
LU Motor external upper left 3 N redueer

RP Motor external lower right
RU Motor external upper right

A I Y% Sp-8 S M I ey A, W A P E - & M



% }éi‘fl‘ﬂﬂi%*ﬁgﬂ Full-Sealing Belt Driven Linear Actuator %

Motion Control Motion Control
EBHSNE LM /BN E RN BHINEET/BYINEEL
Motor external left side / Motor external right side Motor external lower left /Motor external upper left
HNR
\ ) EBANINE M Motor external left side %ﬁ:umt:m} ﬁ ’ EBHIMNE T Motor external lower left %{E:Unit:mh —
23 M8 T-Nut A ——
A RERAEMST AL IZ
M8 T-Nut —h o35k 3 .
ﬂ%ﬁi‘w i = =R
. - T = 7 = -
| & | = . = =
=il —
L -1 I,
L L Il
170 - L&
L 120 TR FR 160, 370 B HATFEvalid stroke FR140
T‘ left iit160 3¢ 2 HE B 10MM safe distancelom right limit140
JEBR160_ 370 H R valia siroke B 140 T I
left Limif160 274 P B9 10MM safe distancel0m right finit110 o | = !,_ 2 ) = = oc
— == ° d 2
o | =a ﬂ 8
= Kl o & 5 = < @ GCBS
120 280 GCRS
280
180 2x D6 ESR
80 180 2x @6
L
7 .. ] il a 80, EMR
S . MT=alls I S = = —
N 1 : N “ [ | ‘ > ‘ EHR
Sl 3.20 AN S| 3.20 - _
12x M8
12x M8 KSR
*FEBHMLEIRER *Excluding motor and mounting plate weight *AEBIAMLEIRESR *Excluding motor and mounting plate weight LNP
BHITE BRITE
Stroke Stroke DDR
L 950 1050 | 1150 | 1250 | 1350 | 1450 | 1550 | 1650 | 1750 | 1850 | 1950 | 2050 | 2150 | 2250 | 2350 | 2450 | 2550 | 2650 | 2750 | 2850 L 830 930 1030 | 1130 | 1230 | 1330 | 1430 | 1530 | 1630 | 1730 | 1830 | 1930 | 2030 | 2130 | 2230 | 2330 | 2430 | 2530 | 2630 | 2730 '?f%ﬁﬂ
ererence
KG 214 23 24.6 26.2 27.8 29.4 31 32,6 342 35.8 374 39 40.6 42.2 43.8 45.4 47 48.6 50.2 51.8 KG 21.4 23 24.6 26.2 27.8 29.4 il 326 34.2 35.8 374 Bo 40.6 422 438 45.4 47 48.6 50.2 51.8 data
BHITE BHITE
Stroke Stroke
L 2950 | 3050 | 3150 | 3250 | 3350 | 3450 | 3550 | 3650 | 3750 | 3850 | 3950 | 4050 | 4150 | 4250 | 4350 | 4450 | 4550 | 4650 | 4750 | 4850 L 2830 | 2930 | 3030 | 3130 | 3230 | 3330 | 3430 | 3530 | 3630 | 3730 | 3830 | 3930 | 4030 | 4130 | 4230 | 4330 | 4430 | 4530 | 4630 | 4730

k KG 53.4 55} 56.6 58.2 59.8 61.4 63 64.6 66.2 67.8 69.4 71 72.6 742 75.8 17.4 79 80.6 82.2 83.8 J k KG 53.4 55} 56.6 58.2 59.8 61.4 63 64.6 66.2 67.8 69.4 71 72.6 74.2 75.8 774 79 80.6 82.2 83.8 j
K ) EBHLINE G Motor external right side (i :Unit: mh K , EAINE A £ Motor external upper left B4 :Unit: m}

M8 T-Nut A
SR NS TR I R
—A =
‘ [/ 1| =
= I
= = -~
7 B
— I
—Ja
=
B L0
] lae) S —
< 5 5
L I jml]| & o 2
' JVp ] o 5 =
II$&E§16O ! 370 : AATRE valid stroke Al 140 120 4 PR ES 1OMM safe distancelomn
efthmx(tleo 2 4B B LOMM cate distoncel0 right [Imit140
= . — e 170 AR 160 370 5 RATHE valid stroke AR 140
ﬂ:[ j725% ) left 1imit160 right [limit140
— = =l L
T
180 2x 96 280
80, 180 2x P 6
0 I
— 80,
| ‘ o w © 1 o~ =] "
s NEEZINE SR [HIT== |
< 3 5 i x >
1320 L7 .20 ‘
' 12x M8 '
12x M8
*FEBHMLEIRER *Excluding motor and mounting plate weight *AEBHAMRERER *Excluding motor and mounting plate weight
BHITE BRITE
Stroke Stroke
L 950 1050 | 1150 | 1250 | 1350 | 1450 | 1550 | 1650 | 1750 | 1850 | 1950 | 2050 | 2150 | 2250 | 2350 | 2450 | 2550 | 2650 | 2750 | 2850 L 830 930 1030 | 1130 | 1230 | 1330 | 1430 | 1530 | 1630 | 1730 | 1830 | 1930 | 2030 | 2130 | 2230 | 2330 | 2430 | 2530 | 2630 | 2730
KG 214 23 246 | 262 | 27.8 | 294 31 326 | 342 | 358 | 374 39 40.6 | 422 | 438 | 454 47 486 | 50.2 | 51.8 KG 214 23 246 | 262 | 2718 | 294 31 326 | 342 | 358 | 374 39 406 | 422 | 438 | 454 47 486 | 502 | 518

BXRITE BRITE

Stroke Stroke

L 2950 | 3050 | 3150 | 3250 | 3350 | 3450 | 3550 | 3650 | 3750 | 3850 | 3950 | 4050 | 4150 | 4250 | 4350 | 4450 | 4550 | 4650 | 4750 | 4850 L 2830 | 2930 | 3030 | 3130 | 3230 | 3330 | 3430 | 3530 | 3630 | 3730 | 3830 | 3930 | 4030 | 4130 | 4230 | 4330 | 4430 | 4530 | 4630 | 4730

K KG 53.4 55 56.6 | 582 | 59.8 | 614 63 646 | 662 | 67.8 | 69.4 71 726 | 742 | 758 | 114 el 80.6 | 822 | 838 / K KG 53.4 55 56.6 | 582 | 59.8 | 614 63 646 | 662 | 67.8 | 69.4 71 726 | 742 | 758 | 714 79 80.6 | 822 | 838 j

—— IR ES-E S M A

3% -8 € M ——"




% ’éiﬂﬂ&%ﬁgﬂ Full-Sealing Belt Driven Linear Actuator OCBlZO Series @ , kk %

Motion Control Motion Control
Motor external lower right /Motor external upper right
HNR
/‘ ’%*ﬂyi‘EE—F Motor external lower right %ﬁ:Unit:mn e
HNB
M8 T-Nut = .
92 ] RS T IR 2 1]
=] 3 PP
o = L@L 7 B HNT
L
170 160 370 A RUTFE valid stroke BE140
120 left Jinitl60 ﬁéﬁﬁ%lOMM safe distancelOmm right limit140
S Mmt = = GCB
g
9 @ GCBS
GCRS
280
ESR
’ 180 2x @6
80, EMR
4 VIS — E:;..? = S
320 ‘ Hm 120 ‘Hc’ H EHR
jee] - ———
‘ = KSR
12x M8
LNP
BRITE
Stloke}' Ly DDR
L 830 | 930 | 1030 | 1130 | 1230 | 1330 | 1430 | 1530 | 1630 | 1730 | 1830 | 1930 | 2030 | 2130 | 2230 | 2330 | 2430 | 2530 | 2630 | 2730 Ri}f%ﬁﬂ
eference
KG 214 | 23 | 246 | 262 | 27.8 | 294 | 31 | 326 | 342 | 358 | 374 | 39 | 406 | 422 | 438 | 454 | 47 | 486 | 502 | 518 data
BT
Stroke
L 2830 | 2930 | 3030 | 3130 | 3230 | 3330 | 3430 | 3530 | 3630 | 3730 | 3830 | 3930 | 4030 | 4130 | 4230 | 4330 | 4430 | 4530 | 4630 | 4730

k KG 534 | 55 | 566 | 582 | 59.8 | 614 | 63 | 646 | 662 | 67.8 | 694 | 71 | 726 | 742 | 758 | T7.4 | 719 | 806 | 822 | 838 j
/( ’ BiIMERL Motor external upper right B :Unit: m}

M8 T-Nut A
3 HeMBT LR
= R —
2 = |l
— !
-
(=3
[Tel
<
[a\]
120 i LA PE I 10MM safe distancel0m
170 JERR IR 160, 370 A UATHE valid stroke AR PR 140
Teft li+it160 L right Limit140
T T
280
180 2x @6
i 80,
)
] I E: =)
s | INEEZANIE H
S| 3.20 = i
12x M8
CREBHAMRERER “Excluding motor and mounting plate weight
aBXITE
Stroke
L 830 930 1030 | 1130 | 1230 | 1330 | 1430 | 1530 | 1630 | 1730 | 1830 1930 | 2030 | 2130 | 2230 | 2330 | 2430 | 2530 | 2630 | 2730
KG 21.4 23 24.6 26.2 27.8 | 294 31 326 342 35.8 374 39 40.6 422 43.8 45.4 47 48.6 50.2 51.8
BXITE
Stroke
L 2830 | 2930 | 3030 | 3130 | 3230 | 3330 | 3430 | 3530 | 3630 | 3730 | 3830 | 3930 | 4030 | 4130 | 4230 | 4330 | 4430 | 4530 | 4630 | 4730

k KG 53.4 55 56.6 | 58.2 | 59.8 | 61.4 63 646 | 662 | 67.8 | 69.4 71 726 | 742 | 758 | 114 el 80.6 | 822 | 838 / K /

3% -8 € M ——"

—— IR ES-E S M A




=\
2 AH 1% %

Motion Control

7=\
2 AH 1% %

Motion Control

RE-frELE Acceleration-payload relationship HNR

FaEEESHUT Product performance parameters are as follows

/ \ HCR
=33 N IKFEEF Horizontal
g EE*Q}; 5 5 E{IF5 E (mm) Repeated positioning accuracy (mm) +0.05 230 orizonta HNB
Repeat Accuracy 20:1
+0.05 SRR (mim) Reted Speed (pmimin 101 151 20:1 0 -
mm . £ w3 190 ER]
'_'lzai = ]EE (mm/s) Maximum speed (mm/s) 700 470 350 §§ 170 HNT
IKTFAEF (kg) Horizontal (ke) 100 160 220 € 10 Xvz
BAAMER g
Maxi Payload 130
aximum Payloa ﬁﬁﬁﬁﬁ (kg) Vertical (kg) %2 35 50 80 o
100 -
S2 (mm) tead (mm) 256 o ocB
- D‘.35 U.‘47 0.‘7
TEMEHEST (N) Rated thrust (N) 1200 0 02 03 04 05 06 07 08 GCR
_ — JEEE (mm/s) Speed (mm/s)
FRAEATRZ (mm) stroke pitch (mm) 150~5050mm/100 alB& 100 mm pitch —
. GCBS
AC@HEE]E\E@E (W) AC servo motor output (w) 750 EHFH Vertically
% GCRS
20:1
BHTE (Mm) Beltwidth(mm) 60 wy 8
£y ESR
2 70
ENIMELLBEH (mm) High rigidity linear guide(mm) 35X29 & 60 EMR
19:1
50
R RN 38 o= 672(NPN) —
Home sensor Outside 40 0
| KSR
#1 BIANREIREO.4%. 31 Acceleration and deacceleration value is set 0.4 second. 30
%2 BEEAR, SRBIR, AANSERENER, §BE. il il o LNP
32 Notice, if the belt breaks, the moving parts will fall when the application is vertical. 0 02 03 04 05 06 07 08
#3BARRERENE, S1279110, %3 Lead is 110mm without gearbox. SEE (mm/s) Speed (mm/s) DDR

Pt — = - a fi
REREE Installation diagram et

RIFAEHIFER N.m Allowable overhang

§?ﬁ'*§M5E§ﬂ§mﬁ§ M5 nuts Qty.(by stroke)

_ _ up locking plate H
BT stroke #8 Quantity BRATE stroke #R8 Quantity e = 17
tastEEn |G 1 TR0\
100~500 4 2600~3000 14 I )
I dowr\]llockln%‘[:late
600~1000 6 3100~3500 16 THABIER
HER#HSE, BT LR ERE
This picture for reference only, specs details according with the drawing. 1100~1500 8 3600~4000 18
# EHH BRI R, BEBRIESIMEMEN.
1600~2000 10 4100~4500 20 #Top fixing plateis optui;nal. )
5050mm 5000mm/s 750W 60mm 35X29-1% ——— - e ”

ORAMEEES RN TR, AMSERBEERE.
s¢Standard mounting method is fix from the bottom, using the M5 bolt and nut.

BERAFN Ordering method

TPA-OCB-140-256-L5050-MR-Y-J75B-N3-F

BFHREFHIER Nm Allowable overhang

A
H
c A ¢
c H
B

(#{IUnit:mm) (#{IUnit:mm) (#{IUnit:mm) (8 4ZUnit:N.m)
k2 R AT E i P ME R
Ecand BodyWidth ?;Jaf Horizzjfnﬁ%ﬁation A B c side mounting A B c Vertical installation A c LY 21y
10kg 618 | 71 5 10kg 618 | 71 95 3kg 900 900 MP 2100
BE pelt : e 10| 20kg | 418 | 31 | 45 | [102| 20kg | 418 | 31 | 45 | |02 6kg 450 450 MR a0
B A G: kTl = %= = ¢
Wotor irection it Motor power . ﬁf”ﬁ?ﬁﬂi& 100kg | 257 | 12 | 25 100kg | 257 | 12 | 25 35kg 300 300 NERFRTOISIE, KRB D _
m G: countersunk hole 20:200W : = Thetorquevalueinthe chartindicate the center of gravity.
DL A 40+ 400W 25kg | 570 | 138 | 185 25kg | 570 | 138 | 185 5kg 900 900 ARSI T RIS H 5100004 S,
N 35 H] semi seal 212 DR BHAEM 75: 750W 151 35kg | 335 | 67 | 85 151 35kg | 335 | 67 | 85 151| 1lokg 750 750 Operation life s 10,000km when the product s using under the
C 28 rusea Lead MR @SB AT : specifid conditons. R
H B# sistype 256mm ML EBAVINE A3 1K: 1000W 160kg | 238 | 40 | 52 160kg | 238 | 40 | 52 50kg 300 300 EIREATAEBIRANE NE RRIES RS,
=By The standard specification cannot be applied to the use of inverted crane.
0 i e LP EASME AT 7 ==Y 60/90(%2:?"21;) 28kg 304 114 130 28kg 304 114 130 6kg 900 900 Please consultour business if necessary.
E BAT etctic cyiner LU EBMIshE LA Wetor brand i w1| 4okg | 200 | 67 | so | |201| aokg | 200 | 67 | so | |20a| 1zkg | 4s0 450
L B2 B Linear motor RP BHAEEMNTS P 44T pansconic G JEERRA
o otoelectric Mode
K SMEEIBLA vigh gty neor actator 150-5050mm RU HHISNE AL TS —= . Rl 10| 52 &0 R 10 | 52 &0 80kg | 300 300
- L M =Z= vitsubishi N: NPN
G PIERTUAR LA suiltin rail linear actuator (ja1F§100mm) DL Motor left side . :
Gap 100mm DR Motorright side Y R vaskawa P: PNP
D fEI S HR4R simple linear actuator MR Motor external right side H R ucea 3PCS
3 . N ML Mot t lleftsid
M BLSEEEFE S o ey ot T B o R e
LU Motor external upper left I EEA reducer

RP Motor external lower right
RU Motor external upper right

A I Y% Sp-8 S M I ey A, W A P E - & M




7=\
2 AH 1% %

Motion Control

BEAINE M/ BN EEN

Motor external left side / Motor external right side

’é#ﬁﬂ&%ﬁgﬂ Full-Sealing Belt Driven Linear Actuator

23. 20,

105

147

m®=A

[

140

ﬁ } EB*”“‘EEWU Motor external left side

M8 T-Nut
Py 'Ms'ri“]‘#%ﬁ -
el
—la
L I
FEfRBR170 370 ) A5 47 FEvalid stroke E*&KEIJS‘
- ight 1imjt185
left| 1imit170 — AP ES 10MM safe distancelOmm v
. T
O
- = =]
270
170 2x & 8
"%‘ 70
A 8
4 x M8

CREBHMEEIRER “Excluding motor and mounting plate weight

%m:Unit:mh

BXITE

Stroke 2250 2350
L 1005 | 1105 | 1205 | 1305 | 1405 | 1505 | 1605 | 1705 | 1805 | 1905 | 2005 | 2105 | 2205 | 2305 | 2405 | 2505 | 2605 | 2705 | 2805 3005 | 3105 | 3205 | 3305 | 3405
KG 28.1 | 30.3 | 32.5 | 34.7 | 36.9 | 39.1 | 41.3 | 43.5 | 45.7 | 47.9 | 50.1 | 52.3 | 54.5 | 56.7 | 58.9 | 61.1 | 63.3 | 65.5 | 67.7 72.1 | 743 | 76.5 | 78.7 | 80.9

BXITE

Stroke

L 3505 | 3605 | 3705 | 3805 | 3905 | 4005 | 4105 | 4205 | 4305 | 4405 | 4505 | 4605 | 4705 | 4805 | 4905 | 5005 | 5105 | 5205 | 5305 5505 | 5605 | 5705 | 5805 | 5905
k KG 83.1 | 85.3 | 87.5 | 89.7 | 91.9 | 94.1 | 96.3 | 98.5 |100.7{102.9(105.1 107.3 |109.5 | 111.7|113.9|116.1 |118.3 | 120.5 | 122.7|124.9127.1129.3 | 131.5 | 133.7 | 135.9 J
/ | EBHLINE M Motor external right side ﬁ{ﬁ:Unit:mN

M8 T-Nut
BT —t
= =N
= -
=
-
L
BR170 370 ; A RATRE valid stroke FitkPR185
: left| 1imit170 — ’Q?EE%‘IOMM safe distancelOmn right 1imit185
[ T
=R | =
= =
140 270
170 2x @8
70
d o
zﬁl& g
§ 220 o =1 D —=
: u u ne
7

PREBHMEEIRER “Excluding motor and mounting plate weight
BHITE

Stroke 1450 2250 2350
L 1005 | 1105 | 1205 | 1305 | 1405 | 1505 | 1605 | 1705 | 1805 | 1905 | 2005 | 2105 | 2205 | 2305 | 2405 | 2505 | 2605 | 2705 | 2805 3005 | 3105 | 3205 | 3305 | 3405
KG 28.1|30.3 | 325|347 | 369 | 391|413 | 435|457 | 479|501 | 523 | 54.5| 56.7 | 58.9 | 61.1 | 63.3 | 65.5 | 67.7 72.1 | 743 | 76.5 | 78.7 | 80.9
BXRITE
Stroke
L 3505 | 3605 | 3705 | 3805 | 3905 | 4005 | 4105 | 4205 | 4305 | 4405 | 4505 | 4605 | 4705 | 4805 | 4905 | 5005 | 5105 | 5205 | 5305 5505 | 5605 | 5705 | 5805 | 5905
83.1| 853 | 87.5|89.7 919|941 | 96.3 | 98.5 [100.7|102.9(105.1|107.3 [109.5|111.7|113.9 |116.1 |118.3|120.5|122.7 |124.9 |127.1|129.3 | 131.5 | 133.7 | 135.9

e

3% -8 € M ——"

BYSNEL T/ BHINEE L

Motor external lower left /Motor external upper left

24

A4ty

Motion Control

105

147

@n
=

20

il

ol

0

ﬁ ’ EENL%‘EE—F Motor external lower left

279.50

M8 T-Nut
AP MS T i B -
e
§ .
=
’ =
—a
L
iﬁﬁ&l70 | 370 | AT valid stroke E*&KE155
[t Limit170 22 A JETS10MMsafe distancelOnn right limit1$5
=
o e ==
O
e e B2 =
270
170 2x @8
= o
L 1=
2\ =
4 x M8

AEBYMREIRER *Excluding motor and mounting plate weight

B Unit: mh

BROE 150 250 350 1150 1250 1350
troke
L 885 | 985 | 1085 | 1185 | 1285 | 1385 | 1485 | 1585 | 1685 | 1785 | 1885 | 1985 | 2085 | 2185 | 2285 | 2385 | 2485 | 2585 | 2685 | 2785 | 2885 | 2985 | 3085 | 3185 | 3285
KG 28.1 | 30.3 | 32.5 | 34.7 | 36.9 | 39.1 | 41.3 | 43.5 | 45.7 | 47.9 | 50.1 | 52.3 | 54.5 | 56.7 | 58.9 | 61.1 | 63.3 | 65.5 | 67.7 | 69.9 | 72.1 | 74.3 | 76.5 | 78.7 | 80.9
aBRITE
Stroke
L 3385 | 3485 | 3585 | 3685 | 3785 | 3885 | 3985 | 4085 | 4185 | 4285 | 4385 | 4485 | 4585 | 4685 | 4785 | 4885 | 4985 | 5085 | 5185 | 5285 | 5385 | 5485 | 5585 | 5685 | 5785
K KG 83.1 | 85.3 | 87.5 | 89.7 | 91.9 | 94.1 | 96.3 | 98.5 |100.7(102.9|105.1 [107.3 |109.5 | 111.7|113.9|116.1 |118.3 | 120.5 | 122.7|124.9|127.1|129.3 | 131.5 | 133.7 | 135.9 j
ﬁ ’ EBHNINEE L Motor external upper left %ﬁi:Unit:mh
M8 T-Nut
TR —t
-
I
3
3 e e DY
= = _c -
7R = S O
|| 0o —
140 4B 10MM safe distancelOmm
190 ERBR170 370 HBATFE valid stroke AitRPR185|
left limit17( right 1imit185
L
270
170 2x @8
70
s
f=]
ﬁﬂ% 5
= —=

AR 150 250 350 450 550 650 750 850 950 1050

Stroke

L 885 | 985 | 1085 | 1185 | 1285 | 1385 | 1485 | 1585 | 1685 | 1785 | 1885 | 1985 | 2085 | 2185 | 2285 | 2385 | 2485 | 2585 | 2685 | 2785 | 2885 | 2985 | 3085 | 3185 | 3285

KG 281|303 | 325|347 (369|301 | 413 | 435|457 | 479 | 501 | 523 | 545 | 56.7 | 58.9 | 611 | 633 | 655 | 67.7 | 69.9 | 72.1 | 743 | 765 | 78.7 | 80.9
BRITE

Stroke

L 3385 | 3485 | 3585 | 3685 | 3785 | 3885 | 3985 | 4085 | 4185 | 4285 | 4385 | 4485 | 4585 | 4685 | 4785 | 4885 | 4985 | 5085 | 5185 | 5285 | 5385 | 5485 | 5585 | 5685 | 5785

K KG 831|853 | 875|897 | 919 | 941 | 963 | 985 [100.7|102.9105.1|107.3 109.5 | 111.7 113.9 | 116.1 |118.3|120.5 122.7|124.9 | 127.1|129.3 | 131.5 | 133.7 | 135.9 j
= O M A/
——— Y E T E M

HNR

HCR

HNB

HCB

HNT

GCB

GCBS

GCRS

ESR

EMR

EHR

KSR

LNP

DDR

SEHK

Reference
data



7=\
2 AH 1% %

Motion Control

BHINEL T/ ENINEE L

Motor external lower right /Motor external upper right

> éi‘j |‘7H & %ﬁ?ﬂ Full-Sealing Belt Driven Linear Actuator

/‘ , FBHIMNEG T Motor external lower right

M8 T-Nut

105

AEHEHAREIREE *Excluding motor and mounting plate weight

| ST R B it
g r— =N g
=
- == =]
-
L
190 _JER170 370 , HRATHE valid stroke A1 M 185
140 e RAFB10M sate distancelom e
|
=8 | g = =
170 2x 08
70
‘
8 422 5 ] d S
=) [0 B
] 7 - [
= -
4 x M8

ﬁ{ﬁ:Unit:mn

AT 550 650 750 850 950 1050 1150

Stroke
L 885 | 985 | 1085 | 1185 | 1285 | 1385 | 1485 | 1585 | 1685 | 1785 | 1885 | 1985 | 2085 | 2185 | 2285 | 2385 | 2485 | 2585 | 2685 | 2785 | 2885 | 2085 | 3085 | 3185 | 3285
KG 281|303 | 325|347 369 | 301 | 413 | 435 | 457 | 479 | 501 | 523 | 545 | 56.7 | 58.9 | 611 | 633 | 655 | 67.7 | 69.9 | 72.1 | 743 | 7655 | 78.7 | 80.9

BXITE
Stroke

L 3385 | 3485 | 3585 | 3685 | 3785 | 3885 | 3985 | 4085

4185 | 4285 | 4385

4485 | 4585 | 4685 | 4785 | 4885 | 4985 | 5085 | 5185 | 5285

5385 | 5485 | 5585

5685 | 5785

100.7102.9 [ 105.1

107.3|109.5(111.7 |113.9|116.1 {118.3|120.5 | 122.7 | 124.9

127.1/129.3 |131.5

k KG 83.1| 853 |87.5|89.7 (919 | 941|963 | 985

133.7|135.9 j

/‘ ) EBHNIMNE A L Motor external upper right

M8 T-Nut

PREBHMEEIRER “Excluding motor and mounting plate weight
BHITE

| -t
= .
E 7
-l
T = T
Bl =
3
x . _
3 <
R mh | = -
- Teft limit17] 4B B 10MM safe distancelOmn right Limi 155
140 *Eﬁwano 370 HHUTHE valid stroke % PR 185
190 L
270
170 2x @8
70
g 3.20 o Hl =
R P-:
A . H [él& g
7 e ==
@1 4 x M8

B :Unit: mh

Stroke ED
L 885 | 985 | 1085 | 1185 | 1285 | 1385 | 1485 | 1585 | 1685 | 1785 | 1885 | 1985 | 2085 | 2185 | 2285 | 2385 | 2485 | 2585 | 2685 | 2785 | 2885 | 2985 | 3085 | 3185 | 3285
KG 28.1|30.3 | 325|347 369 | 39.1|413 | 435|457 | 479 |50.1 | 523 | 545 56.7 | 58.9 | 61.1 | 63.3 | 65.5 | 67.7 | 69.9 | 72.1 | 74.3 | 76.5 | 78.7 | 80.9

BXRITE

Stroke

L 3385 | 3485 | 3585 | 3685 | 3785 | 3885 | 3985 | 4085

4185 | 4285 | 4385

4485 | 4585 | 4685 | 4785 | 4885 | 4985 | 5085 | 5185 | 5285

5385 | 5485 | 5585

5685 | 5785

100.7|102.9 | 105.1

107.3|109.5|111.7 |113.9 |116.1 | 118.3 | 120.5 | 122.7 | 124.9

127.1/129.3 |131.5

k KG 83.1| 853 |87.5|89.7 919 | 941|963 | 985

133.7|135.9 J

3% -8 € M ——"

OC B 140 Series

Motion Control

— 39 % E-E & M

HNR

HCR

HNB

HCB

HNT

GCB

GCBS

GCRS

ESR

EMR

EHR

KSR

LNP

DDR

SEHK

Reference
data



	页 202
	页 203
	页 204
	页 205
	页 206
	页 207
	页 208
	页 209
	页 210
	页 211
	页 212
	页 213
	页 214
	页 215
	页 216
	页 217
	页 218
	页 219
	页 220
	页 221
	页 222
	页 223
	页 224
	页 225
	页 226

